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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271249
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592721009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given responses, find the missing letter in the series:

AD, BH, CL, DP, ?
Options:

1. = EU
2. » KL
3. = MN
4. v ET

Question Number : 1 Question Id : 54592721009 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev v fashedl # & Aol & ofca 3187 &1 AT e

AD, BH, CL, DP, ?

Options:

1. = EU
2. = KL
3. » MN
4. v ET

Question Number : 2 Question Id : 54592721010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find out the next term.

GIK, M15Q), S21W, ?

Options:

1. = W5E
2.vY1C
3. = 7Z2B
4. % A6C

Question Number : 2 Question Id : 54592721010 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fceT : 39Tl U T il

GOK, M15Q, S21W, ?

Options:

1. = WBE
2. v Y1C
3. = Z2B
4. = ABC

Question Number : 3 Question Id : 54592721011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If all the Letters of the word ‘SEAT” are arranged according to
Dictionary then which word will come Third from the right
end?

Options:

1. =T
2.v E
3.5 8



4 % A

Question Number : 3 Question Id : 54592721011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aﬁsmSEAT?mﬁHﬂﬁaﬁ%mraxyﬂﬂwmﬁmﬁ
fohaT SITAT & o hieTdT o6 gl &0 & iy F2ATel 9T 3TUT?

Options:

1. = T
2. v E
3. # S
4. = A

Question Number : 4 Question Id : 54592721012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the odd one out from the given alternatives.

Options:

1. » stool

2. » Sofa set
3. v Carpet
4. = Bench

Question Number : 4 Question Id : 54592721012 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu av fAredl & O R{AYH AT HL

Options:

1. = U
2. = GIW ¥
3. v el
4, = &7

Question Number : 5 Question Id : 54592721013 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

In each of the following questions, certain pairs of words are
given, out of which the words in all pairs except one, bear a
certain common relationship. Choose the pair in which the
words are differently related.

Options:

1. = Actor : Singing

2. = Dancer : Direction

3. = Actor : Choreography
4. v Farmer : Farming

Question Number : 5 Question Id : 54592721013 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fereafafEa ucdsh weal A, $o @R oo fev 7w §, o
T Uk Rl BISHRL THT NS H s Uk ATeTT AT 9y &
39 ST T el foradl erse a7eeT aig @ dafad g

Options:

1. = AHAGT © I

2. = olctent @ Talgere

3. = 3T SIRITH
4. v Torarer @ @AY

Question Number : 6 Question Id : 54592721014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given alternatives.

Options:

1. % CF: CZ
2. % DI: DY
3.« GN : GZ
4.vF]:EY




Question Number : 6 Question Id : 54592721014 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev av fashedt & & favA &1 v

Options:
1. » CF : CZ
2. = DI : DY
3. = GN : GZ
4. v BEJ : EY

Question Number : 7 Question Id : 54592721015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number {rom the given alternatives.

PAINTING : ARTIST :: Cook:

Options:

1. = Singer
2. » Music
3. = Novel
4. v Meal

Question Number : 7 Question Id : 54592721015 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farTlellET weaT A XY 910 [¥eredl & O Trleyd
T/ TETT Tl gﬁvl

=T : FepR 1 SAT

Options:

1. = JMAh



2. % gIa
3. = 30
4. v AT

Question Number : 8 Question Id : 54592721016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number from the given alternatives.

ZAB : DEF :: : NOP

Options:

1. = GHI
2. = JHI
3.+ GIH
4. v HIJ

Question Number : 8 Question Id : 54592721016 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafa@a mead A U a0 [@redl # O gFeiedd
ETT/LSS/TEAT <R gf&ul

ZAB : DEF :: - NOP

Options:

1. = GHI
2. = JHI
3. = GIH
4. v HIJ

Question Number : 9 Question Id : 54592721017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the related
letter/word/number from the given alternatives.

CG: . Elx:
Options:

1. = FK : JK
2.# 1] : KH
3. G]: LM
4.+ F]:GK

Question Number : 9 Question Id : 54592721017 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFafa@a mead & U a0 [@redl # O gFeiedd
ET/SS/TTAT <hl gf&ul

CG : El =
Options:

1. = FK : JK
2. = |J 1 KH
3. = GJ : LM
4. v FJ : GK

Question Number : 10 Question Id : 54592721018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, if MENTION = 49 and NEUROTIC =
64, then MARVELLOUS =7?

Options:

1. =121
2. % 81



3. % 88
4. ¢« 100

Question Number : 10 Question Id : 54592721018 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wh ffRd e o &, afy MENTION = 49 31t NEUROTIC
= 64 &, a1 MARVELLOUS = ?

Options:

1. = 121
2. % 81
3. = 88
4. v 100

Question Number : 11 Question Id : 54592721019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If CCTV 1s called Television, Television is called Radio, Radio 1s
called Pen and Pen is called Fan, then which is used to write?

Options:

1. v Fan
2. % Pen
3. = CCTV
4. » Radio

Question Number : 11 Question Id : 54592721019 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

It TATEET ST CollTaslel hal SITAT &, dollidolel ol IfSAT Far
STaT &, IEAT U MR U F U@ FET FJar §, ar e
IueT forma & forw foRar Srar §7

Options:

1. v T@T




_ﬁgﬂ

Question Number : 12 Question Id : 54592721020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For the following groups of letters given in Column I, the
codes are given in Column II. Answer the question by finding
the codes for the groups from the given columns.

Column I Column I1
(A) to provide order time | pa ka mo ni
(B) next time to her zanipatu
(C) place order to provide | ok mo pa ka
(D) once at next order sa ri Za mo

What is the code for ‘her’ and ‘provide’?

Options:

1. v tu and ka
2. = ok and pa
3. = sa and za
4. = ni and tu

Question Number : 12 Question Id : 54592721020 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HioA | 7 fGU 10 318 & forrafafad aagh & fore, e ||
#H Fe QU 77 &1 {40 a0 FiaA § @HgH & o0 Fc geht e

Gl Scdl a'l

PlcTH I lcTH 11
(A) to provide order time | pa ka mo ni
(B) next time to her Zanipatu
(C) place order to provide| ok mo paka
(D) once at next order sa ri za mo

'Her 3T ‘provide’s ToIT T e &7

Options:

1. v tu 3T ka
2. % ok 3T pa
3. = sa 3 za
4. = ni 3 tu

Question Number : 13 Question Id : 54592721021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At an Ice cream parlour, sixX ice creams are arranged in a
circular order on the table. Butterscotch is opposite to Kulfi,
there is only one ice cream between Chocolate flavor and
Strawberry flavor ice cream. Vanilla is to the immediate right
of Kulfi. Mango flavor is also one of the ice creams. Which ice
cream 1s placed opposite to Vanilla?

Options:

1. = Chocolate
2. = Strawberry
3. » Vanilla



4. v Either chocolate or strawberry

Question Number : 13 Question Id : 54592721021 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh 3SR TTel H, B8 359 hid ¢ad 9L Uk TTT hH
A gafeyd ¢ deEwd, Hehl & AT §, dihele 3R
TCISHT 3MEERIA & oIl Fael Toh 3EEehIA g1 Ao, Fohr &
foiehedd g% 3N &1 3TH &1 TG A7 339 hid # & Th &
Pl TT ISThIH TaiTell & ARG I@T 15 &7

Options:

1. = kel

2. % TIIOT
3. » Afavelm
4. v T AT dihele AT EI&T

Question Number : 14 Question Id : 54592721022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are five friends -S, K, M, A and R. S is shorter than K but
taller than R. M is the tallest. A is a little shorter than K and
little taller than S. Who has two persons taller and two
persons shorter than him?

Options:

1. » R
2.% 8§
3.% K
4. v A

Question Number : 14 Question Id : 54592721022 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g AT - S, K, M, A3RREI S, KA BlerTg alfrar R &
aaT &1 M 88 o7 &1 A, K & 2i5uT: Bler & 3T S J AiET

ST &1 38 ofe ar Aferd 3 DI ar shled el &7

Options:

1. = R
2. % S
3. = K
4. v A

Question Number : 15 Question Id : 54592721023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Raghav ranks eighth from the top and 31st from the bottom.
How many students are there in the class?

Options:

1.+ 38
2. % 43
3. = 40
4. % 39

Question Number : 15 Question Id : 54592721023 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9T T oY & 3Taar TATT & ddT aAd d Shearaal 7o &1
3ThT HET A BTl hl T&AT Tohdal &7

1. v 38
2. % 43
3. = 40
4. = 39




Question Number : 16 Question Id : 54592721024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Eight students L, B, S, D, M, F, O and H are going for a car
racing. There are only two cars and following are the
conditions:

(1) Four students can sit in one car.

(iI) L. and D sit in a same car but not with H.

(111) B and S cannot sit in the same car in which D is sitting.
(1v) F will sit in the car along with L. and M but certainly not
with O.

If H and O are sitting in the same car, who are other two
students sitting in the same car?

Options:

1.+ Band S
2.« Mand B
3.=FandB
4.« Land S

Question Number : 16 Question Id : 54592721024 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



M @F L B, S, D, MF O3 HFRIVT & T @
&1 dhad af FN & IR AearaEa Rufaar &

() Th F # TN ST 86 Tohal &

(i) L 3T D Uk & FR H §3d & olfchel H & I12T 87|

(i) B 3T S 39 #1 & #aT §& & & oad D da1 &1
(iv) F shael L 30 M & g1y §391 olfche @Rad 9§ O &
arer SIgr|

T HIIM O TR AT FL A S &, al 30 1 & & 3T ar
BT o oH Td3u?

Options:

1. v B3 S
2. « M 3T B
3. = F 3T B
4, = L 3T S

Question Number : 17 Question Id : 54592721025 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pointing to a boy Neha said, ‘He is the son of my grandfather’s
only child. How is she related to that boy?

Options:

1. v Sister

2. = Aunt

3. = Cannot be determined
4. = Mother

Question Number : 17 Question Id : 54592721025 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Ueh oISk hT 3N FUANRT Fld gu a7 o Fal & "gg AL e
% Zholld T KT T & | I8 37 o5+ F h TR Toelad g7

Options:

1. v dgd

2. = AT/ATAT m‘m’r@m
3. = TTOIRT sTar haT ST ThdT &

Wt

4. = HI

Question Number : 18 Question Id : 54592721026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the question below, there are three statements followed by
three conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statements:

I. All tires are wires.
II. All wires are tents.
III. All tents are cans.

Conclusions:

I. Some cans are wires.
II. Some tents are tires.
III. Some cans are tires.

Options:

1. = only conclusion I and II follow.
2. = only conclusion II and IIT follow.



3. = only conclusion I and III follow.
4. v All conclusions I, II and III follow.

Question Number : 18 Question Id : 54592721026 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

J w910 wesT A e Fue 3R 39+ g1 19 sy 2w
AT §| YR & T FUAT I TcT AT & Hel a5 & Fa AT
dzat & fBieer udia g1 &l @it fosest &1 ufer i a=
$ifoT for e e foserst & @ @l |7 d&HEIT T & STepEor
FIAT &, TR I ATd ?-rﬁrfjwaﬂﬁyrl

e

. &l e’ ar B
1.3 IR T E
1530 g Ot E)

IGLECY R

. & 99 GR gl

. & T RN E
1. TS AR Y

Options:

1. % 1 @ |l 3eEOT R &

1l g Il STegERor T &

2.
3. % | g Il 37TEI0T R &
4.

v 1 I a NIl gl 3TeTEeT e B

Question Number : 19 Question Id : 54592721027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



For the Assertion (A) and Reason (R) given below, choose the
correct alternative from the following:

Assertion (A): Akbar is also known as Jahangir.
Reason (R): Akbar was a strict administrator of Islamic law.

Options:

1. = Both (A) and (R) are true and (R) is the correct
explanation of (A)

2. = Both (A) and (R) are true, but (R) is not the correct
explanation Of (A)

3. = (A) is true, but (R) is false
4. v Both (A) and (R) are false

Question Number : 19 Question Id : 54592721027 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

drd feu 9v sifeerya (A) 3N &RoT (R) & fov, e & &

i N
S RIRCETR BCGE
e

HTAFAA (A): 3RaT hI ASEIT & ATH T AT ATAT SATAT &
FROT (R): 37he TETHT hlefel hT T&T HITHS 2T|

Options:

1. = grar (A) 3T (R) @& § 3 (R) (A) &7 T&r TSRO &
2. = @ (A) 3T (R) @ar &, difrer (R),(A) T Tar TSRO
o8l &

3. = (A) TET &, dfheT (R) aTold &

4. v QAT (A) AT (R) TelT &

Question Number : 20 Question Id : 54592721028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question given below, there is an incomplete
series as shown by question mark. This term is given as one of
the alternatives. Mark the correct alternative.

16, 22, 34, 58, ?
Options:

1.~ 106
2. % 108
3. = 98

4. % 172

Question Number : 20 Question Id : 54592721028 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o feu a0 faetfelf@d weat &, U 37l serr & SiEr foh
weel RIgaT ganT fG@mT a4 §1 98 oee [dshed & 7 & feam
AT & T RAerew Fr REAT F

16, 22, 34, 58, ?

Options:
1. v 106
2. = 108
3. = 98
4. = 172
Mental Ability2
Group Number : 2
Group Id : 5459271042
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability?2
Section Id : 5459271042
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271250
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592721029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong term in the given series:

2, 3,0,10, 18, 27

Options:

1. %6
2.v 10
3.% 18
4 % 2

Question Number : 21 Question Id : 54592721029 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 9% STl H Ield TG AT Hhi:

2, 3, 6, 10, 18, 27

Options:



1. = 6

2.
3. = 18
4. = 2

Question Number : 22 Question Id : 54592721030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options:

Options:

1. = 544
2. % 373
3. % 463
4, v 455

Question Number : 22 Question Id : 54592721030 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w a0 Beredl # O Hed d&aT ) gﬁ:
Options:

1. = 544
2. % 373
3. = 463
4, v 455

Question Number : 23 Question Id : 54592721031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd one from the given options:

Options:

1. = 83,064
2. % 47 86
3.%79, 34



4. v 23,065

Question Number : 23 Question Id : 54592721031 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R AT Redt 7§ few e O

Options:

1. = 83, 64
2. = 47, 86
3. = /9, 34
4. v 23, 65

Question Number : 24 Question Id : 54592721032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the odd numeral pair/group in each of the following
question :

Options:

1.=1(9) 2

2.%5(854)9
3.v4(442)7
4. = 3(243) 6

Question Number : 24 Question Id : 54592721032 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faraferi@d aear & fawa wear aret I7q / dAg +1 glaw:

Options:

1. % 1 (9) 2

2.« 5 (854) 9
3. v 4 (442) 7
4. = 3 (243) 6

Question Number : 25 Question Id : 54592721033 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related
letter/word/number {rom the given alternatives.

(182, 15, 12)

Options:

1. = (112, 10, 12)
2. % (112, 10, 14)
3.v(112,10, 11)
4. = (112, 10, 16)

Question Number : 25 Question Id : 54592721033 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed U2l A T 97 [eredt # & graleud
ITETT/TSS/TTIT hi gﬁvl

(182, 15, 12)

Options:

1. = (112, 10, 12)
2.« (112, 10, 14)
3. v (112, 10, 11)
4. = (112, 10, 16)

Question Number : 26 Question Id : 54592721034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the missing term?

e a
tapn il e 1}

ST

Options:

1. = 27
2.v 28
3. % 32
4 % 15

Question Number : 26 Question Id : 54592721034 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At e AT Hea?

e a
capn il o

@]
ST

Options:

1. = 27
2. v 28
3. % 32
4. = 15

Question Number : 27 Question Id : 54592721035 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

If '+ means ¢, " means “+’, X’ means ‘= and “+‘ means -,
then answer the following questions based on this
information.

9-3+2+-16x2="7
Options:

1.+ 7
2.% 5
3.%9
4, %6

Question Number : 27 Question Id : 54592721035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg '+ T 3T %, - HmT AT+ E xR AT E 3T
‘T T F -, dr 50 SATASNRT o YR W eEdATelgd Teal
F 3cd¥ o

9-3+2+16x2=7%
Options:

1. v 7
2. = 5
3. = 9
4, = 6

Question Number : 28 Question Id : 54592721036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the question given below, there is a statement followed by
two conclusions. You have to take the given statement to be
true even if they seem to be at variance with commonly
known facts and then decide which of the given conclusion
logically follow(s) from the given statements.

Statement:
T>=0=1I=L=D
Conclusions:

I. D=<T
II.D=T

Options:

1. = Only conclusion I follow

2. » Only conclusion II follow

3. v Either Conclusion I or II follow

4. = Neither conclusion I nor II follow

Question Number : 28 Question Id : 54592721036 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A U 310 geeT H, T FAA F &G &l [«I5hy 6T T &
R U 31T el hT T AT &, Hel &F T 3TH diX W
AT d2ar & a1y fa=wor sa & 3 T ag ¢ o6 v av
erel H & Hlel AT Aok dTfeheh T @ 3HTEOT FIT &

2. % haol Tasehy || HTEOT Tl Y



3. v ar a fashy | ar Il 3erevor wYar &
4. » A forshy | 3 & &7 || 37T FT §

Question Number : 29 Question Id : 54592721037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If4x24=6,2x8=4,1x3=3, then find the value of 7 x 217
Options:

1. = 42
2. % 21
3.v3
4. % 63

Question Number : 29 Question Id : 54592721037 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 4 x 24 =6,2%x8=4,1x3 =3, a7 % 21 & AT
AT HITSTT?

Options:

1. = 42
2. = 21
3. v 3
4. = 63

Question Number : 30 Question Id : 54592721038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following diagrams best represents a
relationship among Platinum, Ornament and Gold?

Options:

NOO®



(DO
..©O0

Question Number : 30 Question Id : 54592721038 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

rlolad # & Sla a7 =T weliceta, 3Myor 3K e &
ST O T Iidfellded HTar 87

Options:

OO0
,.(0)O



..QC

Question Number : 31 Question Id : 54592721039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the following represents Officers who are
Gazzeted but not state Government employee?

Gazzeted Qfnges
A

070
state-govt.employee

Options:

l.ve

2. % h

3.8 ¢

4 = f

Question Number : 31 Question Id : 54592721039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TFaIfelET # & shle &7 JHET T Tid o dcd war § S

JST9TAd & olfehal TLhNT FHINT Tal o7

a
(L

313<1 JIP13 I Bt

Options:

1. v e
2. % h
3. % g
4, = f

Question Number : 32 Question Id : 54592721040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In following question, a set of two figures forming the
problem figure and four answer figures marked as (a), (), (¢)
and (d) are given. Select a answer figure which possess the
same characteristic.

Problem figures

N [=

Options:




A
4
&

3.v

.8

Question Number : 32 Question Id : 54592721040 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafari@a wear &, ar =T wea amepfa # 3N IR Scac-amsfa
H (a), (b), (¢) 3T (d) & *7 H QU ¢ §| 37 I 3hid
T TTeT hd o TH AT TYar avl

g HHfa
Options:

A




.. L8

Question Number : 33 Question Id : 54592721041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The second figure in the first unit of the problem figures
bears a certain relationship to the first figure. Select that
figure from the set of answer figures which would come in
the place of question mark (?) and bear the same relation.

Problem Figures

1 4
Options:

Lt
o




4, v

Question Number : 33 Question Id : 54592721041 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

weel 3MPid & Tgel TS T GELT 3MMHid,Tgell MMpid & Th
ffeaa Freey AT §1 30! 3cal 3THia & e 8 39
3TRTcT ST el LT BN ST el e (?) & i W
e MY gaT & AiRad gey feEreem

%

1
Options:

Zik

Lt
£

1. =




Z

Question Number : 34 Question Id : 54592721042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an appropriate figure from the four numbered figures
for the place of the questions mark (?).

Problem figure

R X 2

(A) (B) (€) (D)

Options: |
K
1. =
2. % ég
K
3. =
K
4, v

Question Number : 34 Question Id : 54592721042 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



weal fRIEel (?) & T W 3ol 3Thd & ¥ H T 3fed

bt

IEAGECE]
C o

A Hrpfer

BH X |56 2

(A) (B) (C) (D)

Options:

1. =

2. % })g
=

3. =
%

4. v

Question Number : 35 Question Id : 54592721043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following questions, element (i1) is related to element
(1) In a particular way. Find out the pair of figures in which
the elements are not related to each other.

Options:



eX=CiT=Ce

+Ascifsc+

7 o 2= N

1scoiscot

2 vl Bk 18

=x+*ﬁ+*=

4 x "

Question Number : 35 Question Id : 54592721043 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frraferi@a aeall #, 3pfd & IR #ET A Jea (i) dea () @
Ueh [T 9oh & HEAT &1 3o 3Thid SIS T 9T oM
oA dca T gE¥ & @efd 8T §

Options:

eX=C:T=Ce

1« i i




+Ascigsc+

5« L. 4

tscoiscoft
3. v e |

=X+%:iS+k=

4 % e

Question Number : 36 Question Id : 54592721044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct water image from the given alternatives.

Problem Figures

oD

Options:

1 «




Question Number : 36 Question Id : 54592721044 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few 910 fashedl # & 3Rfd $HT FET =T H7 S MM AT
ST

et s

r-I‘

Options:

Question Number : 37 Question Id : 54592721045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A piece of paper is folded in the manner shown in the
question figure(s). Select the figure out of the unfolded
pattern after the punches (cut).

Question Figure:

X Y Z

Options:

Question Number : 37 Question Id : 54592721045 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U TS & gohs 1 U 3IRfd H ST a0 q{Ish & AgT
IRT &1 e & FE WIed Yo hr g2lfa aTel 3cal Aehedl A &
AT T AT H|

W HHfd
X Y L
Options:

Question Number : 38 Question Id : 54592721046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find out which of the figure (a), (b), (¢), (d) can be formed
from the pieces given in fig. (X).

Question
Figure

)

Options:

1.~

<
S
©
&

Question Number : 38 Question Id : 54592721046 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(@), (b), (c), (d) H & =leT FT 3THIA,3MFIT (X) & FAR—T
gehdl &7
A AT

)

Options:




D 1O @ B

Question Number : 39 Question Id : 54592721047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question an unfolded dice is given. From the
given alternatives which of the following will be opposite to 5?

S| —~]=]|WL

Options:

1. = U
2.% T
3.vL
4. % K

Question Number : 39 Question Id : 54592721047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



s fau v gest A, vk For I fe2T T &1 foshedt &
SEHRT AT ST for FieT @1 5 & Fuda e

5
| K
L
7|V
Options:
1. = U
2. % T
3. v L
4. = K

Question Number : 40 Question Id : 54592721048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cube of 25 c¢cm side 1s divided into 125 smaller cubes of
equal volume. Find the side of smaller cubes.

Options:

1. = 2cm
2. % 3 cm
3.v5cm
4. % bcm

Question Number : 40 Question Id : 54592721048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

25 TAT T Teh el hlI HTT T & 125 B g H
farerioicd foRam STTAT &1 BIE Ol $T ST AT FIST|

Options:

1. = 2 |
2. = 3 @A




3. v 5 AT
4. = 6 QAT
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Section 1d : 5459271043

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271251
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592721049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Indian classical dance can the Odhra Magadha
considered as the precursor of?

Options:

1. * Mohiniyattam
2. v Odissi
3. » Kathakali



4, » Kathak

Question Number : 41 Question Id : 54592721049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST HITY Aell FT v HRAT AT ocd & 3gd & H

U&TeIT ST GehdT &7

Options:

1. = Afgeirsrgn
2. v Mif=ar
3. » FHUholl
4. = hh

Question Number : 42 Question Id : 54592721050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A monument was built by the British at the Apollo Bunder in
Mumbal and was designed by the British architect, George
Wittet. To commemorate whose visit was this monument
built?

Options:

1. = Prince Edward of Wales
2. v King George V

3. = Prince Phillip I

4. = King Edward III

Question Number : 42 Question Id : 54592721050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ho$ # Aol decd H S SaRT Ueh THNS Sl a-m T
3N 3@ Tefeer aregsh, Siiel fdde ganr f3eirger fohar arim o)
qE THANG ThEhT IATEAT hl HTHdecd la o Tol@ FITdT ]
AT?

Options:




1. = ded o O Usas
2. v TRaT SiaT V
3. = T frfeT |
4. = Topar vsas |l

Question Number : 43 Question Id : 54592721051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Lotia is the regional music of:

Options:

1. = Assam

2. = Punjab

3. » Tamil Nadu
4. v Rajasthan

Question Number : 43 Question Id : 54592721051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SfeaT o T &3 F9lra &l

Options:

1. = 38H

2. % ol

3. = dfA =g

4. v TS EATA

Question Number : 44 Question Id : 54592721052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following festivals is not one of the major
festivals in Maharashtra?

Options:

1. » Marabats and Badgya
2. » Gudi Padwa



3. = Ganesha Festival
4. v Bihu

Question Number : 44 Question Id : 54592721052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I d ERT & ¥ Fid I7 O8N HSRISE o UE
BRI # 8 U ol g7

1. » ARST 3T F574r
2.&@@
3. = 30T ARlcad

4. v fog

Question Number : 45 Question Id : 54592721053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When we account for the annual income or the annual
production of a factory we are actually calculating:

Options:

1. = Stocks of the factory

2. v Flows of the factory
3. = Gross investment of the factory
4. = Net investiment of the factory

Question Number : 45 Question Id : 54592721053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& &H TordT &M hl TI¥eh 31T AT gk 3cUlge ol
A &Tehel L & ol & dedd H Fr ITOTAT T &

Options:

1. = FRETA & TEIih
2. v G & UG8




3. % G % Tehol foider
4. » HRETA & Tdger Tader

Question Number : 46 Question Id : 54592721054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year did India get its Central Bank?

Options:

1. = 1931
2. % 1933
3.+ 1935
4. = 1937

Question Number : 46 Question Id : 54592721054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HNT &I 3YelT Fad S g gy HeT?

Options:

1. = 1931
2. % 1933
3. v 1935
4. = 1937

Question Number : 47 Question Id : 54592721055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements about MSP or Minimum
Support Price is incorrect?

Options:

1. v The MSP is decided by the FCI or Food Corporation of
India.

2. = Freezing of MSP for a few years should be considered by
the deciding authority.



3. = Rising MSP’s have raised the maintenance cost of
procuring foodgrains.

4. = The MSPs are declared every year.

Question Number : 47 Question Id : 54592721055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT IT 7galadd HATHT HIAT & TR H TorfioiEd # 8
lel TT H2UeT TTeld 57

Options:

1. v TATHYT &7 @0 THETITS A7 AR e fodrd ganT
form Srar &

2. » fouiigs WASHRY FT sgadAd TADT RIAT FT FS au
& OT T @e & vy 9T iRar 8§ B9 Fer aifgvl

3. * ogaIdH HATHT HIAAI & §6a0 & ACHN T TSATeail T
Il 3Te[L&T0T ARl &G 915 &

4. = THUEYT &Y Tl Mia v S &

Question Number : 48 Question Id : 54592721056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is incorrect about the
Parallax method?

Options:

1. ¥ This method can be used to measure all kinds of distances
— large, small, medium and micro.

2. * To measure the distance of a far away planet by this
method, we observe it from two different positions
(observatories).

3. = The distance between the two points of observation is
called the basis.



4. = Parallactic angle will always be very small while
calculating very far off objects.

Question Number : 48 Question Id : 54592721056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aFd AT & I 7 @ & @ sia a1 Faa g &7

Options:

1.@%ﬁﬁmmmﬁweﬁrqﬁﬁ-a€r,@€r,
AEA 3 G&A, FI A9 & Tolv fRaT ST Fehall &

2. « 30 [l <arT TRl qUE #1g HT g1 AVl & folv, A
=0 o afees Rufaal @uememsi) & 3ada &

3. = 21 NeToT fogall & s T i F URF Fgl AT ¢

4.wc§%ﬂq*gﬁ6ﬁrmmaﬂﬁmmaﬁwaﬁwa§?r
BT BI4M|

Question Number : 49 Question Id : 54592721057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following types of cell is present in the human
gastric glands?

Options:

1. = Only mucus neck cells

2. * Only mucus neck cells and peptic or chief cells
3. = Only peptic or chief cells and parietal or oxyntic cells

4. v Mucus neck cells, peptic or chief cells and parietal or
oxyntic cells

Question Number : 49 Question Id : 54592721057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

e 7 8 g v FT HIfET AT ot afgar &
Al ardr &7

Options:




1. % Shaol ¢INAT IET RITHRIT

2. = hdel IYAT PAT RINFTT AT qraek (dTew) AT T
HIfRIRTT

3. * hael qraeh (ATeeh) AT T AIRRT I e ar
ifFafees IR

4. v AYAT AT ARV, gk (ITeF) AT FEI AR
3T Mcd ar 3ifealees FHIfeeRT

Question Number : 50 Question Id : 54592721058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Through which of the following activities does an organism
maintain homeostasis by Regulation processes?

Options:

1. v Sweating and shivering

2. » Changing body temperature with ambient nature

3. » Temporarily moving away from stressful habitat

4. = Formation of thick walled spores to survive unfavourable
conditions

Question Number : 50 Question Id : 54592721058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArIfelaa A 8 forg Ifafai & ATeTd & T Sg @ardHs
UfehaT3ll ganT BIAARS AT/AFAEdTIe I TATC T&AT &7

Options:

1. v g8l 3R FIRdr & gaRT
2. % T KT dT9HTT gRaely draaTa &+ HATAR AR

3. = @YUl AR & 3R & & 3776 3ToTeho &8 & S
h{




4. » fdee TR A Sifad s= B« & fov A1 fafea
mﬁraﬁ\—:nvga?ﬂ:

Question Number : 51 Question Id : 54592721059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This diseases is caused by a pathogenic bacterium and affects
the intestines. It can be confirmed by Widal Test. Identify the
disease.

Options:

1. = Pneuomonia
2. = Cholera
3. v Typhoid
4. » Malaria

Question Number : 51 Question Id : 54592721059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tg STHART Teh TdTTeleh SIATO] & HROT Bl & 3T 3rdr

VAT I & | 3 T Yise faster aRETor sarr i S fehd)
g1 STHNT I ggaTa |

Options:

1.&?@@%
2. % &Il

3. v 3T TaX (TISHISE)
4. % HeLIT

Question Number : 52 Question Id : 54592721060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(1) will help you to (ii) waste products.

Options:

1. = (1) Blue and Green bins, (i1) reduce
2. v (1) Composting, (ii) reduce



3. # (1) Rechargeable batteries, (1i) segregate
4. = (1) Kabariwalas, (i1) decompose

Question Number : 52 Question Id : 54592721060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(i) 3TIeRT 3TUTEISE 3curar & (ii) H HTE M|

Options:

1. = (i) il 3iX & 21, (i) T Fa

2. v (i) FFNES, (i) FH F

3. = (i) Tametaer sedl, (i) 3Tl 376l i
4. = (i) Farare, (i) 3TEea

Question Number : 53 Question Id : 54592721061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Consider the following steps of Wastewater Treatment Plant
(WWTP) — L. Impure water goes to grit and sand removal tank,
il. Impure water is allowed to settle in a large tank, 1iii.
Impure water is passed through bar screens - Using the codes
given below, arrange the above steps sequentially.

Options:

1. =11, 1, 111

2. % 111, 11, 1
3.= 1,11 11
4. v 111, 1, 11

Question Number : 53 Question Id : 54592721061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



uferse STo 3TTR FIT (Seoggeedern) & farafaid awor
N faa Y -i. 3UTEse el &1 [@Ie 3 ST 376l el &I
Zehl H o T ST & ii. 3UTEISe ol shl Ueh &3 cehl H o ST
R TCo ygeaT & @1 SATAT & iii. 39S ST Sl eTollenT Soal
(SR RN ISIRT STr &1 - @ f§U 910 I sk Soer Fidcd

&0, 3UIFd TLUN i shfdeh ®7 & AT HL|
0

Options:

T, = 01, 1, 1

2. 0% 1, 1, |

3.0% 1, 11, 1

4. v 1, 1, 1

Question Number : 54 Question Id : 54592721062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following nutrients keep our skin and eyes
healthy?

Options:

1. = Fats

2. » Carbohydrates
3. = Proteins

4, v Vitamin A

Question Number : 54 Question Id : 54592721062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeaTol@d H & i &7 WY ded SANRT cadar 3T 3&Er +i

TOET TTAT &7

Options:

1. = T&T

2. = hAIEI58C



3. % WIETd
4. v @a@Ad A

Question Number : 55 Question Id : 54592721063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an example of a green algae?

Options:

1. * Laminaria

2. % Sargassum

3. v Chlamydomonas
4. = Fucus

Question Number : 55 Question Id : 54592721063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFAelT&d # O hiaaT gRd AdTel T Ueh 31807 §7

Options:

1. = oA
2. % GOIMEH

3. v FIASSIANLE

4, » FIHRT
e

Question Number : 56 Question Id : 54592721064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following cities is not a capital of India’s
neighbouring countries?

Options:

1. * Thimpu

2. » Kathmandu
3. v Lahore

4, = Naypyitaw



Question Number : 56 Question Id : 54592721064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeiEa & O Fiaar 98T IRT & gsiaT e hr ITeTdrar
STel &7

1. = g

o,

2. % RIGHIS

3. v WER
4. % FATTIIET

Question Number : 57 Question Id : 54592721065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Census 2011 was the edition of Census in India.

Options:

1. = 13th
2. = 14th
3. v 15th
4. = 16th

Question Number : 57 Question Id : 54592721065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 2011 HART H STAT0TAT Rl HERIOT 2T

Options:

1. = 13 @T
2. % 14 ar
3. v 15 @l
4. = 16 ar

Question Number : 58 Question Id : 54592721066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs are Kharif crops?



Options:

1. v Rice and Cotton
2. = Cotton and Wheat
3. * Wheat and Gram
4. » Gram and Rice

Question Number : 58 Question Id : 54592721066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frtflfEa # & Sl @1 8T =% wEel 87

Options:

1. v Idel 3N FUE
2. = FUE IR AF
3.« g 3N Talm
4, = AT 3 ader

Question Number : 59 Question Id : 54592721067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

These soils develop In areas with high temperature and high
rainfall. These are the result of intense leaching due to
tropical rains. Humus content of the soil is removed fast by
bacteria that thrives well in high temperature. These soils are
poor in organic matter, nitrogen, phosphate and calcium,
while iron oxide and potash are in excess. Hence, these are
not suitable for cultivation. Which type of soil is this?

Options:

1. v Laterite

2. » Alluvial

3. = Black

4. = Red and yellow

Question Number : 59 Question Id : 54592721067 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

IE HaW 3T dIIAT 3 #RT auT & &+ # fhfad gidr &
ﬁﬂﬁﬁﬂﬁiﬂﬁﬁﬂ?ﬁﬂ??ﬁﬁ%&llﬂﬂ i
IRUTA §1 a9 & | e R e ar feranfea & o &
AT g F 3FETSS N ePAIfATA & I & sqT AV
Y IE SATdr &1 3T dI9HTAT H ATer & Yeldel aTol SiaTo
A T AET FT deil F o5¢ T & &1 3T A3t # o
Tare siEciaTal| Bithe 3 FiorA T FAT a1dr & g oils-
HETES AT dlerer ST AT gldr &1 IRUTATI®T Ig HaW
FIW & v vicd 3ues @0 &1 I8 g v $r Har 87

Options:

1. v oledse

2. % STolle hSHI
3. % ol
4. % dTer 3T drelr

Question Number : 60 Question Id : 54592721068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The approximate length of the Great Himalayan range, also
known as the central axial range,is{1) __ km from east to
west, and thelr width varies between (ii) km from
north to south.

Options:

1. = (1) 6000km and (ii) 400 - 600km
2. v (1) 2,500km and (ii) 160 - 400km
3. = (1) 4000km and (ii) 300km
4. = (1) 1,500km and (11) 200km

Question Number : 60 Question Id : 54592721068 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Jed TedATerd garel, o8 Shdl 376 Al i1 Fgl SIar &,
qa-afead oeTs eerereT (i) feRelTATET 2T 3cc |
zfgor sgar = (i) fereltaTeT &I

Options:

1. = (i) 6000 farar 31T (ii) 400 - 600 fFaY
2. v (i) 2,500 T 31 (i) 160 - 400 fFaT
3. = (i) 4000 RRaET 3 (i) 300 fraT
4, = () 1,500 e 31T (i) 200 Fra
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Question Number : 61 Question Id : 54592721069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following factors does not affect the ocean
salinity directly?

Options:

1. = Evaporation and precipitation
2. » Fresh water flow from rivers
3. v Coriolis Force

4. = Winds

Question Number : 61 Question Id : 54592721069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAra@T & @ Fid T FRFR TcTST T T THZ T A0
T TeIfad AT AT &7

Options:

1. = greYIeRIoT Ug g¥or

2. = ARl ¥ dTer UTail T d81F
3. v RIRATeT F

4. = gar

Question Number : 62 Question Id : 54592721070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the incorrect statement with regards to the Indus
Valley Civilization:

Options:

1. = The longest inscription in the Indus Valley era has about
26 symbols

2. * The Indus Valley people used weights both in binary and
decimal systems

3. » The Indus Valley seals conveyed the identity of the sender
and also if the bag with the sealing was intact



4. v Beads were made of carnelian which were pink coloured
stones obtained by firing the yellowish raw material

Question Number : 62 Question Id : 54592721070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ferey ey @egar & FEY A Teld FUel i
Options:

1. = T OICT TeFar & Tod o 3ol # oamtar 26
ISR

2. » =Y °Er §9GT # A1 & Alies @ INT va aRHod
UTTell &l T 3ol or Hid o

3. ey arél @egar & Holohel & AR hT IgT FT 9l
TeIT AT TF Jg $f7 9T Telar a1 o o gt 9T Feiehat o,

388 FI5 B3B8 A g5 &
4. v Urel T 3 e AT I AT H Tkl FT Flaioldel hl
Helsh SellC STt o, ST dTelell 3T & gead 2|

Question Number : 63 Question Id : 54592721071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following places of the sixth century BC are
presently not situated in India?

Options:

1. v Taxila

2. » Kaushambi
3. = Rajgir

4. = Ujjayini

Question Number : 63 Question Id : 54592721071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



BT eATsdT $AT qd % foratfofEd Tl & @ Hia &1 TumeT
JadATT # ART # ua o181 g7

1. v d&ITerer
2. % HIATEAT

4. = 35T

Question Number : 64 Question Id : 54592721072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following was a work not done by the jotedars
during the eighteenth century British administration?

Options:

1. v distributing the revenue demand (jama) over villages
2. = controlled local trade as well as moneylending to ryots
3. = revolted against the zamindars many times

4. = exercised direct control over a considerable section of
poor villagers

Question Number : 64 Question Id : 54592721072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MSNEAT erdree] & Tofeer e & ERTd faedfeiad H &
iel HT HIH SAITGRI GART olal [hAT SATAT AT?

Options:

1. v Al W TEd G&aedT Al (SAT) [TaRT e & v
SFAer &
2.%WWWW$W% ELEIRGEE IR

3. » STHARHI & WoTh $s a1 dag har




4. = I ITASEAT & FIHr a2 g7 9T Y 39er fag=oT
Ea o

Question Number : 65 Question Id : 54592721073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following movements and their respective years
are not correctly matched?

Options:

1. = Champaran Satyagraha : 1916-17

2. » Ahmedabad Mill Strike Satyagraha - 1918
3. » Rowlatt Satyagraha - 1919

4. v Kheda Satyagraha - 1920

Question Number : 65 Question Id : 54592721073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed & @ Hiaar ged 3T 3 gafdd gy T Tl
fHoTer aIgT &7

Options:

1. % TYROT IcIEE : 1916-17

2. = 3gHEIEG [Hol g5diol Gcdaig - 1918

3. = Jlele FOEE - 1919
4. v WS TcAWEIE - 1920

Question Number : 66 Question Id : 54592721074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“What if I and all the eminent leaders in Gujarat and in the
rest of the country are arrested? This movement is based on
the faith that when a whole nation is roused and on the
march no leader is necessary.” Who said this and which
movement did this quote precede?

Options:



1. = Sardar Vallabhbhai Patel, Civil Disobedience Movement
2. v Mahatma Gandhi, Dandi March

3. = Sardar Vallabbhbhai Patel, Non-Cooperation Movement
4, » Mahatma Gandhi, Civil Disobedience Movement

Question Number : 66 Question Id : 54592721074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e #F 3 TR T 32T 3 5 TR AT A3
BTRoaR T forar S ar § a1 8e? Ig Mieed 9 aear
W TR & o STe Ueh T U°¢ 36 TST Blar § 3T 37t
§ge oFTdT & af 38 aAdT hl ST Ier 1§ Sar| I8 Raa
el AN T8 36307 v 3elelel d Ugel 3T AT?

Options:

1. » TEN TeodHT Udd, AAaT AT S iele
2. v HAGICAT Jmedl, a8l AT

3. » TIEN TooHHS U, ITEIILT Hareld

4. = FAZCAT T, AT JATAT HTEToldd

Question Number : 67 Question Id : 54592721075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which chronicles and documents from the Mughal court is
the major source for the agrarian history of the sixteenth and
early seventeenth century ?

Options:

1. v Ain-I-Akbari
2. » Babur Nama
3. = Kitab-ul-Hind
4. « Humayunama

Question Number : 67 Question Id : 54592721075 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

HITel AN & il & T AT exddsT dlergdl AR FFedl
rATSEl F FY STATH FT YW AT &7

Options:

1. v 3TST-U-3hadl

2. % FIEY oATHI
3. % forare-3o-T2g
4.

x AT oATH]
2 O,

Question Number : 68 Question Id : 54592721076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following personalities is not matched with the
position they are holding?

Options:

1. = Lotay Tshering - Bhutanese Prime Minister

2. = Sooronbay Jeenbekov - President of Kyrgyzstan
3. v Mauricio Macri - Australian Prime Minister

4. = Moon Jae-in - South Korean President

Question Number : 68 Question Id : 54592721076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl # & hledl ATEHTd 3eleh GaNT YNUT fohT a0 UG
T Aol gl FTar?

Options:

1. = oNie EIRIRET - SfeTall WelTel AT

2. » RIS Sdehig - frfEiedrer & Iseufa
3. v AIRTEIT #Fr - oS Tyt JAT
4. = Hol SA-3oT - SATOT HINATG TogUfT

Question Number : 69 Question Id : 54592721077 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

Who is the author of these books - "Why I Am A Hindu” and
"An Era of Darkness”?

Options:

1. = Arvind Adiga

2. * Khushwant Singh
3. » Rajdeep Sardesai
4. v Shashi Tharoor

Question Number : 69 Question Id : 54592721077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"SgTS 3% UA U fgeg’ UF "Uel W M STehadd” - ol TEAHRI

& oI HledT 87
Options:

1. » 3Tag 38
2. « Head T8g

3. » oAl TicHS
4. v AT AT

Question Number : 70 Question Id : 54592721078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This is a multi-country organization that has 10 member
states and was formed in the year 1967. Which of the
following organizations can it be?

Options:

1. » SAARC
2. v ASEAN
3. = APEC
4. % 5CO

Question Number : 70 Question Id : 54592721078 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
IE U TE- TS &, oA 10 HeEg-Ieg § SN g8
IS aY 1967 A Tohar 3T oM eafelEa # 8 I8 i @
HITSeT B Tl &7

Options:

1. = e (TH.C.U.3L.E)
2. v 3O (T.0H.5.0.047.)
3. = 3% (T.dE.En)

4. = TH.EL.

Question Number : 71 Question Id : 54592721079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the incorrect statement about the NITI Aayog:

Options:

1. = The NITI Aayog is neither a statutory body nor a
constitutional body.

2. = It was formed in the year 2015.
3. v There are 5 ex-officio members in the NITI Aayog.

4. = At the core of NITI Aayog’s creation are two hubs — Team
India Hub and the Knowledge and Innovation Hub.

Question Number : 71 Question Id : 54592721079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oAIfeT 3ANET & g & el Fel o

Options:

1. % ATad 3TET o ar durfas @ & 3K 7 & gdafas
IGEIE S

2. = B G, gy 2015 & TRIT a7 27l
3. v AT 3=ET # 5 UgsT HeEd &l




4. » sifer AT & fAATOT & HoT 7 @ g7 & - &F 347 &
AT ATt U8 S &9

Question Number : 72 Question Id : 54592721080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

This brilliant Indian scientist was a plant physiologist as well
as a physicist. His books include "Response in the Living and
Non-Living” (1902) and "The Nervous Mechanism of Plants”
(1926). Identify the person and identify his invention by
choosing the correct option.

Options:

1. v Jagdish Chandra Bose, Crescograph

2. = Satyendra Nath Bose, God Particles
3. » Meghnad Saha, Short Radio Waves
4. = C. V. Raman, Raman Effect

Question Number : 72 Question Id : 54592721080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TJg UTTHTRITT HRAIT ddATlfeeh Teh 9ied fRATaaATaT 8l
qre-aTy Uk iR ATl o | 3ok 2@y ferd atv gEdeR]
H "NEUE 37 T Tofger 3T Ala-feger (1902) 311 "g 799
HorfaeH 31T Tolleq” (1926) 3UfEad &1 T8l [Qheq T T4

Y TGk hT IgdTd Y UG 3alch IHASHRN hT TgdTad He|

Options:

1. v SHIGIET Ig 1, Hehldh

2. » gcAg ol &, N8 Ulfcehed
3. = Auee g, ofg s a@n
4. = €. 4. {HA, {HA THT

Question Number : 73 Question Id : 54592721081 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Sahitya Akademi has selected writers for Yuva
Puraskar 2019.

Options:

1. = 20
2. % 21
3. % 22
4. v 23

Question Number : 73 Question Id : 54592721081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 3FEAT o JaT WERR 2019 & fow SI&Ieh] <R
T R &

Options:

1. = 20
2. % 21
3. % 22
4. v 23

Question Number : 74 Question Id : 54592721082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following comes under Right to Freedom?

Options:

1. = Right to move the courts to issue directions/orders/writs
for enforcement of rights

2. = Protection of language, culture of minorities
3. = Prohibition of employment of children in hazardous jobs
4. v Protection of Right to form assoclations/unions

Question Number : 74 Question Id : 54592721082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TFafelET # & shld &1 TTAAAT & THR & d&d 3T &7

Options:

1. = Fifelss TYFRT FT AF] FE@A & & =TT STl
EICEES

2. % CUHEIRT F AN 3T TERIT F TIETOT T 3TORT
3. = SNEH gt AT A Twl § Aelgdl e T Uk
4. v TATST Bl &1 STFAINT TaAIAT T FTARR

Question Number : 75 Question Id : 54592721083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Constitutional Amendment fixed the norm that the
total number of Ministers, including the Prime Minister, in
the Council of Ministers shall not exceed fifteen per cent of
the total number of members of the House of the People?

Options:

1. = 85th Amendment Act
2. » 89th Amendment Act
3. v 91st Amendment Act
4. » 96th Amendment Act

Question Number : 75 Question Id : 54592721083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FE gguTferss Ny« o ATeles dF T o ARTRYS &
mﬁﬂﬁﬁﬁﬁﬁﬁr?m EAT, dleh THT o ISEAT T
el TEAT § Ugg alaerd & 3ifash aigl g

Options:

1. % 85 oI genye ATATagd
2. = 89 T gAMYel TATTH
3. v 91 a1 genye fafaas




4. = 96 aT Henyge fafaza

Question Number : 76 Question Id : 54592721084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Right to Information Act provides for setting out the practical
regime of right to information for citizens to secure access to
information under the control of (1) . It was passed in
(11) :

Options:

1. v (1) Public authorities, {(i1) 2005

2. = (1) Private authorities, (ii) 2005

3. = (1) Public authorities, (i1) 2001

4, = (1) Private Authorities, (ii) 2001

Question Number : 76 Question Id : 54592721084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

i) & feaeonde geem O qéu gfafRed et *
ToIT ARTRERT & FoIT & 1IN T cagier el Tegid
T et & foIv gaar &1 37er o=d & 1 53 (i)
_ H urita Tear e am

Options:

1. v (i) @ WY, (i) 2005
2. = (i) forstr wifderY, (i) 2005
3. = (i) o WIfEeeRT, (i) 2001
4. = (i) fostr wifrerY |, (i) 2001

Question Number : 77 Question Id : 54592721085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“We must make our political democracy a social democracy
as well.” Who had said this line?

Options:




1. = Pandit Jawaharlal Nehru
2. = Dr. Rajendra Prasad

3. v B.R. Ambedkar

4. = Maulana Abul Kalam Azad

Question Number : 77 Question Id : 54592721085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"Iel TSTailcieh allehdd &l &H HTHAT IR ollehdd T ®T HT AT

ANV " g Uiehd Tohdsh SaRT Shal I-T &7

Options:
1. = Uf3d STAElollol ag®
x BT ITolg UG

2.
3. v SN, 3FSER
4.

& HIiemal 3Tl FellH 3TTllG

Question Number : 78 Question Id : 54592721086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the 2019 edition of this tournament, Rafael Nadal won the
Men’s Singles title and Ashleigh Barty won the Women’s
Singles title. Which tournament is being described?

Options:

1. = US Open

2. * Wimbledon

3. v French Open

4. = Australian Open

Question Number : 78 Question Id : 54592721086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



3 gATHC & 2019 TTHIOT A, el A5Tel o TEY Tehol TS
ST 3 werel STET o Afgell Uehel RIS STl TohE goTHS =T
guiel TordT ST T &7

Options:

1. = JUF 39eT

2. = TadelgeT

3. v g MY

4, » 3TESTlTeT 3Tel

Question Number : 79 Question Id : 54592721087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which state topped the rankings in the Khelo India Youth
Games 20197

Options:

1. » Karnataka
2. » Delhi

3. » Haryana

4. v Maharashtra

Question Number : 79 Question Id : 54592721087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Far 8T g 189 2019 H Tor| U o ket A oY wre
EIES IR

Options:

1. = Shallch
2. % ool

3. = gRgrom
4., v HENISE



Question Number : 80 Question Id : 54592721088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The last edition of a multi-sport event was held in 2018 at the
Gold Coast and the next edition will be held in 2022 at
Birmingham. Identify which multi-sport events is being
talked about?

Options:

1. = Asian Games

2. v Commonwealth Games
3. = World Games

4. = Diamond League

Question Number : 80 Question Id : 54592721088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh ag—@m FRIFH T ITERT FEROT 2018 & dMes e A
IRNTST oraT TR—IT 9T UG STRT 39T GERIOT 2022 H STHTH
H Tea foear Sreen| Weafei@a # | ohe ﬂg-dﬁoi FRIHH
T ST sl o7 T@T &7

Options:
1. = TS =T

. Y
2. v {IS¢HS Hol
3. = faeg T
4. » STTHAS o9l

Arithmetic Abilityl

Group Number : 5
Group Id: 5459271045
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time: 0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271045
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271253
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592721089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: What should come in place of the question
mark (?) in the following question?

(598+178)°—(598-178)
598x178

= ?
Options:

1
1. = 2

2. v 4
3.#5
4, = 8

Question Number : 81 Question Id : 54592721089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fader: feafea@a wead & wesares Reg (?) & T 9T 4T
T ATge?

(598+178)°—(598-178)°
598x178 o

?
Options:

1. = 2

2. v 4
3. % 5
4., = 8

Question Number : 82 Question Id : 54592721090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: What should come in place of the question
mark (?) in the following questions?

25 percent of 84 x 25 percent of 84 =7

Options:

1. = 424
2. % 488
3. = 482
4. v 441

Question Number : 82 Question Id : 54592721090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fader: feafea@a wead & wesares Reg (?) & T 9T 4T
T ATge?

25 percent of 84 x 25 percent of 84 = 7

Options:

1. = 424
2. = 488
3. = 482
4. v 441

Question Number : 83 Question Id : 54592721091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

26+ L=
2 3 &

Options:

1. 6



Question Number : 83 Question Id : 54592721091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATt T U2sT H Uelardes eg (?) & TUTT 9T FAT 3HTa]

AT

15 —11 =7
—+—+6+—=7
2 3 6
Options:

15
1. % 6

27
2. % s

12
3. % 19

26
4. v 3

Question Number : 84 Question Id : 54592721092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the largest of the following fractions?

21 2363 19

91621 69" 57

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

19

1. 17



14

7 16

23

3' 21

63

4. 69

Question Number : 84 Question Id : 54592721092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArATelEad A 8 a8 3T Hed AT hISA?

24 A3 64 Y

9°16°21°69° 37
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:
19
1 17
14

2. 16

23

3. 2t

63

Question Number : 85 Question Id : 54592721093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What should come in place of the question mark (?) in the
following question?

[{(16 ~4) x4} ~ 4] =7

1. % 2
2.% 3
3.v4
4, %5

Question Number : 85 Question Id : 54592721093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T wesT H weeTares g (?) & TUTT UT FAT 3Te]

aqTigT?

(16 + 4) x 4} + 4 = ?

1. = 2
2. % 3
3. v 4
4. » 5

Question Number : 86 Question Id : 54592721094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should come in place of the question mark (?) in the
following question?

15+§of[32-15 =4 x64+2F—114+3-2 x6]="2

Options:



4. =

Question Number : 86 Question Id : 54592721094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFTe&d e # uesTares Reg (?) & TATT 9T FIT 3T

aATfEe?

15+§of[32-15 24 x6+2F5—114+3-2 x6]="2

Options:
29
1. =
77
2% 4
97
3. v 4
81



Question Number : 87 Question Id : 54592721095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HCF of (63, 84, 147) 1s:

Options:

1.+ 21
2. %7
3. % 12
4 % 23

Question Number : 87 Question Id : 54592721095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(63, 84, 147) &7 HgcdH THATIAIS &

Options:

1. v 21
2. % ]
3. % 12
4., = 23

Question Number : 88 Question Id : 54592721096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfA=1%x2x3 x 200 and B = 201 x 202 x 203 x 204, then
find the LCM of A and B.

Options:

1. = B
2.» 201 A
3. = AB
4. v A

Question Number : 88 Question Id : 54592721096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



JE A=1x2 %3 x 200 3i¥ B = 201 x 202 x
203 x 204, A A 3R B &1 JEdHA TATIACHR AT R0

Options:

1. = B
2. % 201 A
3. = AB
4. v A

Question Number : 89 Question Id : 54592721097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When the sum of the digits of a number is subtracted from
the number, the result will be always divisible by:

Options:

1.6
2.v9
3.+ 111
4, %5

Question Number : 89 Question Id : 54592721097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S FoRdY &AT o 3R T T I&IT & 91T SrdT &, ar
gRomHE FAL g Eenfera gem

Options:

1. = 6
2. v 9
3. % 111
4, = 5

Question Number : 90 Question Id : 54592721098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The number 111111111111 is divisible by:

Options:

1. = 5and 11
2. 9and 11
3.=3and?9
4. v3and 11

Question Number : 90 Question Id : 54592721098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

111111111111 Trgeh garT fasrierd &:

Options:

1. = 5 30T 11
2. = 9 3 11
3. = 339
4. v 3 3T 11

Question Number : 91 Question Id : 54592721099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A shopkeeper offers a discount of K percent on a product A
and (K + 15) percent on product B. The marked price of A and
B is same. If the ratio of the selling price of B tothat of A is 13

: 16, then find the discount percentage of product A.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 25 percent
2. 22 percent
3. 20 percent
4. 15 percent

Question Number : 91 Question Id : 54592721099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk gehTelell 3cq1e A 9T K gfderd 3T 3caie B o (K + 15)
Tciere T B¢ & Ll &1 A 3R B &1 Riged Heg GA &
| afe A 3T B Fr skt #er &1 seqara 13: 16 &, &1 3cure A
T F& fALTT ATT HITSIT|

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 25 ufaera
2. 22 wferd
3. 20 wfderd
4. 15 gfderd

Question Number : 92 Question Id : 54592721100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Five times the present age of Rukmani is equal to four times
the age of Sukhmani. Five times the age of Mahima six years
ago was equal to four times the age of Sukhmani five years
ago. If the average of present age of Rukmani, Sukhmani and
Mahima is 31 years. Find the age of Rukmani three years ago?

Options:

1. = 35 yr
2. % 28 yr
3. % 22 yr
4. v 25 yr

Question Number : 92 Question Id : 54592721100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TFHUI T TAATST 3 T 9T AT, WA HT G F TR
AT o SIEY gl B ITol Ugel ATGHAT ahl 3H hl I 3T, T
ATl gel YEHAT T 37 & AN T & sWe A1) Ifg SFaAvl,
AT 3R AGAT FT gIATT 3 F7 AT 31 a¥ g dif
TTeT Ugel HFAUT hT 3H T 94T ENT?

Options:

1. = 35 @¥
2. % 28 a¥
3. = 22 a¥
4, v 25 @Y

Question Number : 93 Question Id : 54592721101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average salary of all the employees in a company is
Rs.10500. The average salary of all the male employees
Rs.15000. The average salary of all the female employees is
Rs.8500. If there are 36 male employees in the company. What
is the total number of employees in the company?

Options:

1.+ 117
2. % 81
3.=104
4. % 65

Question Number : 93 Question Id : 54592721101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TUeh el H THT FHATAT T 39d dde 5.10500 & T
&Y FAAIRAT FT AT ada €.15,000 & @l Afgem
FATRAT FT AT dd=l & .8500 ¥ 30N Kuell # 36 T&9
FAART §1 FOT F FAARAT T Fol TEAT foRaair &7

1. v 117
2. = 81
3. = 104
4. = 65

Question Number : 94 Question Id : 54592721102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A test consists of a total of 100 questions from three sections
QA, LR and VA. All questions carry equal marks. QA section
contains 35 questions, LR section contains 35 questions and
VA section contains 30 questions. A student answered 60
percent from QA section, 40 percent from LR section and 50
percent from VA section correctly. Exactly how many more
questions should he have answered correctly to get the pass
percentage of 65 percent in the test ?

Options:

1. = 20
2.v 15
3.% 24
4. %19

Question Number : 94 Question Id : 54592721102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh JIET0T H il @3 QA, LRWVA#@%HDOWH?IT—T%H
AT T2l 9T THATT 3 ol QA TS H 35 ued, LR m@s 35
TesT 3T VA 5 #H 30 uee 8ld &1 Ush &IF o QA Is & 60
gicerd, LR &g & 40 viderd 31K VA @ & 50 wfderd @gr
3caY U 9dieT # 65 ufaerd 3cdioT ufaerd wred e o v
3og Tohdel 3N TaTal & Sae Her 3o gy’

Options:

1. = 20
2. v 15
3. = 24
4. = 19

Question Number : 95 Question Id : 54592721103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

15 kg grapes which contain 90 percent water were kept in
sunlight. In presence of sunlight, the content of water reduces
to 85 percent due to evaporation. Find the reduced weight of
grapes?

Options:

1. = 14 kg
2. % 13 kg
3.= 12 kg
4. v 10 kg

Question Number : 95 Question Id : 54592721103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



15 foh.am. PR forwd 90 wfderd orelr &, 7 g7 & &1 =T
gqu $T IUREUTT H ISUIHIOT & FROT Gleil HT 3T TRl 85
TeRIT T§ AT 57 AT & §1g 39T FT TeT 37 AN 71
L7

Options:

1. = 14 TeR.am.
2. = 13 fRam.
3. = 12 Tr.am.
4. v 10 foram

Question Number : 96 Question Id : 54592721104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are two numbers such that 25% of the first numberis equal to the square of the second
4
number. The second number is o % of 850. What is the difference between two numbers ?

Options:

1. = 4096
2. % 6658
3.+ 5148
4. = 3642

Question Number : 96 Question Id : 54592721104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

CY AT O o el e a1 25% G T & e 3 i § | QIR AT 850 4%
& TR B | ST HE3HT & & IR T2

Options:

1. = 4096
2. = 6658
3. v 5148
4. = 3642



Question Number : 97 Question Id : 54592721105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By selling 150 metre of cloth, I gain the selling price of 15
metre. Find the gain percent.

Options:

1. = 9.09 Percent
2.+ 11.11 Percent
3. % 10 Percent

4, = 15 Percent

Question Number : 97 Question Id : 54592721105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

150 #eT U3 dua W 7AH 15 AT ®Us & fasha 7o
ToTdaiT 9T Wit &7 &1 o uiaerd ATd Hhifeiv]

Options:

1. = 9.09 wfaera
2. v 11.11 wfdera
3. % 10 wfdera
4. = 15 gfaera

Question Number : 98 Question Id : 54592721106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Deepak purchased a certain number of tables, with an
expectation that if he sells all of the tables at the marked
price, he will get a profit of 35 percent. But during
transportation, 12 percent of the tables are completely
damaged and gave him no returns, 15 percent are slightly
damaged so he sells them at a discount of 20 percent. The
remaining are sold at the marked price. What is his overall
profit percentage ?

Options:




1. v 14.75 Percent
2. % 15.25 Percent
3. % 16.5 Percent

4. = 12.33 Percent

Question Number : 98 Question Id : 54592721106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&9 o Ueh Tdedd O&aT # od BHIS, 39 37416 & a1g
Ife gg AT ¢l A Rifead HAT 9T S9dr &, ar 38 35
TferereT T o B19T| elfehel TREET o gRTeT, 12 ufaerd doer
T e T &IIed & Sd § 3R 39 g #pd aigl [Hordr,
15 gfcerd «isT &7Tdaed gid § Sdielv a8 3eg 20 wicerd &1
P W SIar g1 AY REAT eg W & S &1 38T FH
oITeT UTarerd T §7

Options:

1. v 14.75 gfaerd
2. = 1525 widerd
3. = 16.5 yfcrerd
4, = 12.33 viderd

Question Number : 99 Question Id : 54592721107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The cost price of a trouser is (5/7)th of the cost price of a shirt.
The shirt is sold at 24 percent profit and the total profit on
one trouser and one shirt is 17 percent. If the profit earned on
a shirt 1s Rs.504. What is the selling price of trouser?

Options:

1. » Rs.1450
2. » Rs.1520



3. v Rs.1608
4. % Rs.1716

Question Number : 99 Question Id : 54592721107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh Uciolel T IR Hed, Teh ¢ T oeTd Hed 7 (5/7)aT &
¢ 24 gfderd omH 9T S=iT ST § 3K Uk Tdolel 3T TF e
T el AT 17 wfaerd &1 Ffe vk o v sifeid ey 504 s
&1 Tclelel T TshT Heg T &7

Options:

1. = 1450 &9
2. = 1520 39
3. v 1608 zud
4. = 1716 39

Question Number : 100 Question Id : 54592721108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If(K+2),(K+6),(K+23)and (K + 33) are in proportion. Find
the value of (K + 10).

Options:

1. = 26
2.v 22
3.+ 18
4. % 20

Question Number : 100 Question Id : 54592721108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

afg (K + 2), (K +6), (K+ 23) 3T (K + 33) gaATIa # |
(K + 10) T AT AT IS0

Options:




Arithmetic Ability2
Group Number : 6
Group Id: 5459271046
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 5459271046
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271254
Question Shuffling Allowed : Yes

Question Number : 101 Question 1d : 54592721109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Income of Akhil and Nikhil is in the ratio 6 : 7. The ratio of
their expenses is 9 : 11. If both of them save the same amount.
Find the ratio of income to expenditure of Nikhil.

Options:



1. = 4:3
2. % 5:6
3'Q 338

4 o 14:11

Question Number : 101 Question Id : 54592721109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3Tl 3N Aol hr 31 6 : 7 & Hequld H &1 3eTh T FI
T 9 @ 11 &1 I Qa TAT T s=rd g1 fA@rer hr 3my
T <TG H AT AT HITSIV|

Options:

1. = 4:3

2. % 5:6

3. % 8:5

4 o 14:11

Question Number : 102 Question Id : 54592721110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A company wants to share profit among managers,
supervisors and clerks in the ratio 4 : 3 : 2. There are 8
managers, 12 supervisors and 20 clerks in the company. Each
manager got a share of Rs. 25000. Find the sum of the amount
received by a supervisor and a clerk.

Options:

1. = Rs. 21000
2. » Rs. 16400
3. # Rs. 19200
4. v Rs. 17500

Question Number : 102 Question 1d : 54592721110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk el 4: 3: 2 % e[UTd H TeeR!, qdderhi 3 Felhl &
AT ST TS T ATgar gl FUar A 8 Tadh, 12 TIdeTsH
3R 20 Feeh &1 WA waHeh @ 25000 WA T fGEdT fHe
Teh JAA&TeRh 3T Ueh Feleh aRT e JITRY T TNl AT hITAT |

Options:

1. = 21000 &9
2. = 16400 T4
3. = 19200 T
4, v 17500 €9

Question Number : 103 Question Id : 54592721111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The compound interest accrued on Rs. 18000 in two years is
Rs. 2995.2. What will be the simple interest accrued at the
same rate of interest for the same sum for three years?

Options:

1. = Rs. 5480



2. v Rs. 4320
3. = Rs. 4850
4. % Rs. 5220

Question Number : 103 Question Id : 54592721111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar aul # 18000 ¥4 W 3HTold wehgla saTeT 2995.2 9 |
dieT aul & foIv @A g W ATl 4l THATT &7 I 3foid
ATIROT STl AT BET?

Options:

1. = 5480 &9
2. v 4320 ¥9
3. = 4850 T
4. = 5220 ¥

Question Number : 104 Question Id : 54592721112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The simple interest on a certain sum for 7 months at 4
percent per annum is Rs. 124 less than the simple interest on
the same sum for 15 months at 6 percent per annum. The
sum 1s:

Options:

1. = Rs. 2,680
2. v Rs. 2,400
3. = Rs. 2,560
4. » Rs. 3,300

Question Number : 104 Question Id : 54592721112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T fAfeaa e o 4 ufcderd aif¥es 2T & 7 Al &l IragroT
SIS, 39T UM 9T 6 Taerd ai¥es &X & 15 Aglel & =g 8
124 9 A & g8 T &

Options:

1. = 2,680 ¥
2. v 2,400 ¥
3. = 2,560 9
4. = 3,300 w9

Question Number : 105 Question Id : 54592721113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of Rs.42000 is lent out in two parts in such a way that
the compound interest on the first part in two years at the
rate of 12.5 percent per annum compounded annually Is
Rs.6375. Find the interest on other part for two years at the
rate of 6.5 percent per annum on simple interest.

Options:

1. v Rs.2340
2. » Rs.2650
3. ®= Rs.2700
4. % Rs.2120

Question Number : 105 Question 1d : 54592721113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



5.42000 T T FF aF A9 H 59 WE T 3UR 77 S §
for & @rer # uge feed W wergle surer 12.5 wfdera gfday
(@S I1UTe) &1 & & %.6375 & ATUROT sA1eT 9T 6.5 giderd
Ui a¥ ST 2T @ ar I & TOU 3T HET 9T AT T Udl
e

1. v 2340 ¥

2. % 2650 9

3. » 2700 ¥

4. = 2120 ¥4

Question Number : 106 Question 1d : 54592721114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Walking as 2/5 of his usual speed, a man boy reaches his

office 10 minute late. Find his usual time./

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 15 minutes
2. 20 minutes
3. 12 minutes
4. 16 minutes

Question Number : 106 Question Id : 54592721114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HYAT TATST AT & 2/5 fd & Telad I Ueh a5 10 THee
X & 3 Fhel ‘-Ié'cldl &1 3TT AT TAT AT HIIT|

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 15 TA«C



2. 20 AeT
3. 12 TR
4. 16 Aac

Question Number : 107 Question Id : 54592721115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The speed of a bike increases by 1 km/hr after every hour. If
the distance travelled in the first one hour was 40 km, the
total distance travelled in 8 hours was:

Options:

1. = 356 ki
2. % 382 ki
3. v 348 km
4. % 342 km

Question Number : 107 Question Id : 54592721115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tcdeh B¢ 8 T a1 frAl/ger s¢ Sy &1 Ifg uge @

H S5 G@NT o gl 40 ThAT o, ar 8 ¢ H §T5h GaNT o
T o

Options:

1. = 356 TeraAT

2. = 382 TRaAT

3. v 348 TordT

4. = 342 TRaT

Question Number : 108 Question Id : 54592721116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A train passes a 360 metre long platform in 40 seconds and a
man standing on the platform in 16 seconds. The speed of the
train is:

Options:

1. = 38 kmph
2. * 40 kmph
3. *» 50 kmph
4. v 54 kmph

Question Number : 108 Question Id : 54592721116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh 2o 360 HAeT TF6l TolehmiH hf 40 ks H U T &
T Ueh 3EAT off [k Tolc®mId T TSI &, FI 16 Ths H IR
AT & | ¢of FT 1T &

Options:

1. = 38 TorA/EeT
2. = 40 TrATEer
3. = 50 ferdAEer
4. v 54 TRATEer

Question Number : 109 Question Id : 54592721117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two pipes A and B can fill a cistern in 9 minutes and 6
minutes respectively. Both the pipes are turned on
simultaneously. When should the second pipe be closed, if the

cistern is to be filled in 4 minutes?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 6 min
2. 3 min



3. 2 min
4. 4 min

Question Number : 109 Question Id : 54592721117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar 9sT A 3T B U &F &Y FAT: 9 3T 6 Ade # w1 &l
alell TTST I Uk HIY Tl ST &1 G U187 1 e 66
forar oI o Ed ToF & 4 e # o9 Si?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 6 TAaC
2. 3 e
3. 2 e
4. 4 AeC

Question Number : 110 Question Id : 54592721118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A certain number of men can finish a piece of work in 50
days. If however, there were 4 men less, it would take 20
more days for the work to be finished. How many men were
there originally?

Options:

1. = 18
2. % 15
3.% 16
4. v 14

Question Number : 110 Question Id : 54592721118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



$e ollaT TRl 1 HT 50 foaT & Y Tohod &1 TG 4 =gioreT
FH Bd dl T hr AT o H 20 & 3T 3F g7
STITdT| YRFEH A haar aler 272

Options:

1. = 18
2. = 15
3. = 16
4. v 14

Question Number : 111 Question Id : 54592721119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

12 men can complete a work in 10 days. 25 women can
complete the same work in 6 days. In how many days 8 men
and 4 women can complete the same work, working together?

Options:

1 « 82 days
v 107 days
4% days

3. %

4 x 2% days

Question Number : 111 Question Id : 54592721119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



12 969 Uk s @1 10 et # g1 T dhd &1 25 i 39T
R AT 6 Tl A QU FT T §1 8 &Y qUT 4 3 349
SR T U G fhde &l & @ FT Fohcd 87

1. =

8 fem

Question Number : 112 Question 1d : 54592721120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Each side of a cube is 8 units. It is cut into cubes each of side 4
unit. The total surface area of all the smaller cubes thus
obtained is :

Options:

1. = 456 square units
2. = 372 sqquare units
3. v 768 square units
4. = 560 square units

Question Number : 112 Question Id : 54592721120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Ter Hel dr T ST 8 TS § ARG SHHT 4 THE ST & B
DI "l # Fic AT ST §1 T DI Gall HT Fel RO
STHeT FIT AT

Options:

1. = 456 I ShTS
2. % 372 Tt S5
3. v 768 Tt I+
4. = 560 T Shls

Question Number : 113 Question 1d : 54592721121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A wall of 36 metre long, 32 metre wide and 28 meter high is
made up of 1 x 2 x 3 bricks. If a window occupies 1/8th of the
volume of the wall, find the number of bricks?

Options:

1. = 4830
2. % 4605
3. = 4250
4, v 4704

Question Number : 113 Question Id : 54592721121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

36 AT o@r, 32 AT AEr 3T 28 AeT 3T S a & 1 x 2
x 3 T el & ST a7 &1 IfG aran o 1/8d e # Tasehr
g ar 2a Fr gEaT AT FIS

Options:

1. = 4830
2. = 4605




3. = 4250
4. v 4704

Question Number : 114 Question Id : 54592721122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the area of a triangle whose sides are 12 ¢cm, 16 cm and
20 cm.

Options:

1. = 72 cm2
2. v 96 cmz.
3. = 108 cm2

4, = 144 {:m2

Question Number : 114 Question Id : 54592721122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk THIST FT & Ahel ATT HY TSIehT oS0 12 |A, 16 FAT
AT 20 IAT &I

Options:

2
1. = 72 |AY

2
2. v 96 QAT

2
3. = 108 &AT

2
4. = 144 QY

Question Number : 115 Question 1d : 54592721123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Study the following table and answer the questions given
below:
Trade deficit 2001-2006

(All figures in Rs.crores)

Year 2001-02 | 2002-03 | 2003-04 | 2004-05 | 2005-06
Exports | 34133 35680 34298 38258 44894
Imports| 48948 51187 47587 47544 59264

Trade Deficit = Import - Export

TD% = Trade Deficit % 100
Export

Find the total trade deficit during the entire period.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 72507
2.72563
3. 75207
4, 75063

Question Number : 115 Question Id : 54592721123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fader: Fafa@a arfelerT T 37eggd e 3T A 5 v
TAT & 3cdd o
ST =11 2001-2006

(T@HT 3R AT 39T H)

3§ | 2001-02 [ 2002-03 | 2003-04 | 2004-05 | 2005-06
ot | 34133 | 35680 34298 38258 | 44894
yrTg | 48948 | 51187 47587 47544 | 59264
SO 91T = HAF - =

SN |1eT % = ' % 100

ol 3ty & ST el SIIR b1eT 3ATd FIaw|

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. 72507
2. 72563
3. 75207
4. 75063

Question Number : 116 Question Id : 54592721124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



DIRECTIONS: Study the following Pie-chart carefully to
answer these questions.

Total number of student = 8500
Percentage of student enrolled in different activities of school

Fainting, 9%

How much more percent (approximately) number of students
are there in dance as compared to the number of student in
football?

Options:

1. = 29
2. % 49
3. %43
4. v 33

Question Number : 116 Question Id : 54592721124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forden: foaralafEd TS T eATTash 37T FT Tl T
3ca g

BT $T Fel TEAT = 8500
o $1 fafdes afafafeay & amifea s # 1 gfara

Tediel # ST T TEIT I Jolell H eI H (FR1HaN) fohcal
giaera oF AT §7

Options:

1. = 29
2. = 49
3. % 43
4. v 33

Question Number : 117 Question Id : 54592721125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



DIRECTIONS: Given below 1s the information about the
weight, colours, and size of toy bears in a toy shop. Refer to
the table below and answer the questions that follow:

Weight (kg) Bear in stock, by size and colour
Small | Large Brown Blue White
2 3 Small 5 10 12

Large 6 8 4

What is the ratio of the weight of blue bears to that of white
bears?

Options:

1.=3:4
2.x4:3
3.v11:9
4.« 9:11

Question Number : 117 Question Id : 54592721125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forder: =i faw v Rreflel shr el #F dR & Fefer, W1 30T

el & 3R F TR H SATARRT & a8 &1 A & 5 Jrfeleh!
& T H w9sl FT 3ca¥ d-

g (FFam) | 3R 3 7 & AR BiF & dT

oler | &sT ARl dtell | H%G

2 3 — 5 10 17
= 5 8 4

Hhe ST T ailel ST & Toldl T 3HdTd F3T &7

Options:




1. = 3 : 4

2. « 4 : 3
3.v 11 : 9
4. = 9 11

Question Number : 118 Question Id : 54592721126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: Study the following graph carefully to answer
the questions:

Percent Profit Earned by Two Companies Over the Years
Percent profit
= (Income-Expenditure)x100/Expenditure

70 <
60 -

55
S0 S0

]
= a5

& 40 |
o 35
HEN
g
o
(-
20

10

o -
2005 2006 2007 2008 2009 2010

== Company A ==~ Company B

If the income of company A in the year 2006 was 6.425 lakh,
what was its expenditure in that year?

Options:

1. = 4.7 lakh.
2. = 5.2 lakh.
3. » 4.5 lakh.



4. v 443 lakh.

Question Number : 118 Question Id : 54592721126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fader: AT =T ATE <RI wmqjch T T T hT 3ol

a:

uforera ameT oot awt & ar Fufaar carT AT amsr gfaera
= (3T-509) X100/

2005 2006 2007 2008 2009 2010

gl A W EuHl B

gy 2006 H FUar A #T 3T 6.425 o o, 39 g9 ST T
T AT?

Options:

1. = 4.7 o™
2. = 5.2 oM@



3. = 4.5 9T
4. v 4.43 &M1&

Question Number : 119 Question 1d : 54592721127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: Study the following pie-chart and answer the
following questions.

Percentage wise Distribution of faculty in six different
Departments

Total number of Faculties = 7200

Percentage of Faculties

Total number of Faculties = 7200 and Percentage of Faculties

0% -
Architecture, 27%
25%
Madical, 19%
Management, 16%
E ngineering, 15% £
i Education, 11% i B'ﬂtﬂf-hff_liﬂv- 12%
E“E”‘EE"“E Medical Education  Management Architecture Biotechnology

One-third of the number of faculty of Architecture
department has left. What is the number of remaining faculty
in Architecture department?

Options:

1. = 678
2. % 1248
3. % 648



4.« 1296

Question Number : 119 Question Id : 54592721127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fordern: faesTlolRea ot &1 eATeTqdeh 31eTAT T Y T Jccl o
&g affed @HET § I F7 viaera g [agor

HPIT T Fel TEAT = 7200

Tl ST Afcrerd

HHMAT HT Fa T&AT = 7200 3R GHr F1 gfoerd

30% FfeheaaT, 27%

25%

20%

15%

10%

5%

S s eSS

Ty [IHTT & TR hl TEAT &I Ueh-Tdas HET SIS 9T
ad, freFay THET # AW hrg FT g&IT a1 &7

Options:

1. = 678
2. = 1248
3. = 648
4. v 1296



Question Number : 120 Question 1d : 54592721128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DIRECTIONS: Study the following Graph carefully and answer
the questions given below:

Number of students appearing for aptitude test for various towns [in thousands)
45

ap
35 -
30 -
25 1
20 1
15 -

10

What is the respective ratio of the number of students
appearing for the Aptitude test from Town C and D together
to the number of students appearing for the Aptitude test
from Town A, D and E together?

Options:

1.« 11:13
2. % 20:43
3.% 20:47
4. v 24 .47

Question Number : 120 Question 1d : 54592721128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1% 11 : 13
2. % 20 : 43
3. % 20 : 47
4. v 24 : 47

General English1

Group Number : 7



Group Id : 5459271047

Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Englishil

Section Id : 5459271047

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271255
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592721129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into three parts. One
of them may be incorrect. Choose the INCORRECT part from
the given options. If you don’t find any error, mark ‘No error’
as your answer.

Creativity is contagious, / and the Your Shot photo
community/ spreads it every day.

Options:

1. = Creativity IS contagious

2. *» and the Your Shot photo community
3. % spreads it every day.

4. v No Error



Question Number : 121 Question 1d : 54592721129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into three parts.
One of them may be incorrect. Choose the INCORRECT
part from the given options. If you don’t find any error,

mark ‘No error’ as your answer.

Creativity 1s contagious, / and the Your Shot photo

community/ spreads it every day.

Options:

1. = Creativity 1S contagious

2. » and the Your Shot photo community
3. = spreads It every day.

4. v No Error

Question Number : 122 Question 1d : 54592721130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into three parts. One
of them may be incorrect. Choose the INCORRECT part from
the given options. If you don’t find any error, mark ‘No error’
as your answer.

Planetary scientists use solstices and equinoxes / to defining
‘seasons’ for / other planets in our solar system.

Options:

1. = Planetary scientists use solstices and equinoxes
2. v to defining ‘seasons’ for



3. = other planets in our solar system.

4. = No Error

Question Number : 122 Question Id : 54592721130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into three parts.
One of them may be Incorrect. Choose the INCORRECT
part from the given options. If you don’t find any error,

mark ‘No error’ as your answer.

Planetary scientists use solstices and equinoxes / to defining

'seasons’ for / other planets in our solar system.

Options:

1. = Planetary scientists use solstices and equinoxes
2. v to defining ‘seasons’ for

3. = other planets Iin our solar system.

4. = No Error

Question Number : 123 Question Id : 54592721131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following sentence has been divided into three parts. One
of them may be incorrect. Choose the INCORRECT part from
the given options. If you don’t find any error, mark ‘No error’
as your answer.

In case the ability to glide between / trees isn’t cool enough,
under ultraviolet light, / flying squirrels fur glows pink.

Options:

1. = In case the ability to glide between
2. = trees isn’t cool enough, under ultraviolet light
3. v flying squirrels fur glows pink.

4. = No Error

Question Number : 123 Question 1d : 54592721131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following sentence has been divided into three parts.
One of them may be Incorrect. Choose the INCORRECT
part from the given options. If you don’t find any error,

mark ‘No error’ as your answer.

In case the ability to glide between / trees isn’t cool
enough, under ultraviolet light, / flying squirrels fur glows

pink.

Options:

1. = In case the ability to glide between
2. % trees isn’t cool enough, under ultraviolet light

3. ¢ flying squirrels fur glows pink.

4. = No Error

Question Number : 124 Question Id : 54592721132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following sentence has been divided into three parts. One
of them may be incorrect. Choose the INCORRECT part from
the given options. If you don’t find any error, mark ‘No error’
as your answer.

On a trip to the forests of southern India, /I was stunning to
see massive / rodents leaping treetop to treetop.

Options:

1. = On a trip to the forests of southern India,
2. v I was stunning to see massive
3. = rodents leaping from treetop to treetop.

4, « No Error

Question Number : 124 Question Id : 54592721132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into three parts.
One of them may be Incorrect. Choose the INCORRECT
part from the given options. If you don’t find any error,

mark ‘No error’ as your answer.

On a trip to the forests of southern India, / | was stunning

to see massive / rodents leaping treetop to treetop.

Options:

1. = On a trip to the forests of southern India,

2. v | was stunning to see massive



3. # rodents leaping from treetop to treetop.

4. = No Error

Question Number : 125 Question 1d : 54592721133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The following sentence has been divided into three parts. One
of them may be incorrect. Choose the INCORRECT part from
the given options. If you don’t find any error, mark ‘No error’
as your answer.

Each year the squirrels hoard seeds and nuts / in various
places, using their excellent / sense in smell to locate the food.

Options:

1. = Each year the squirrels hoard seeds and nuts
2. = In various places, using their excellent
3. v sense in smell to locate the food.

4. = No Error

Question Number : 125 Question Id : 54592721133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following sentence has been divided into three parts.
One of them may be Incorrect. Choose the INCORRECT
part from the given options. If you don’t find any error,

mark ‘No error’ as your answer.

Each year the squirrels hoard seeds and nuts / In various

places, using their excellent / sense in smell to locate the
food.

Options:

1. = Each year the squirrels hoard seeds and nuts
2. = In various places, using their excellent

3. v sense In smell to locate the food.

4. = No Error

Question Number : 126 Question Id : 54592721134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required .

It was the summer of 1994, and he was doing research on the
ecology of Yellowstone Lake.

Options:

1. * will be doing



2. » will do
3. * was done
4. v No substitution required

Question Number : 126 Question Id : 54592721134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there I1s no

need to substitute It, select option No substitution required .

It was the summer of 1994, and he was doing research on

the ecology of Yellowstone Lake.

Options:

1. = will be doing
2. = will do
3. = was done

4. v No substitution required

Question Number : 127 Question Id : 54592721135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required .

Freshwater environments, from creeks to rivers, have more
than 10,000 species of fish, we might never get the chance to
see.

Options:

1. = we might not having

2. * We may didn’t have

3. v we may never get

4. = No substitution required

Question Number : 127 Question 1d : 54592721135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required .

Freshwater environments, from creeks to rivers, have more

than 10,000 species of fish, we might never get the chance

to see.

Options:

1. * we might not having

2. » We may didn’t have

3. ¥ we may never get

4. = No substitution required

Question Number : 128 Question Id : 54592721136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required .

Many biologists suggest that it was time to removed the
Yellowstone grizzly bear from the list of threatened species.

Options:



1. = it was time to remove

2. = It was remove

3. v it is time to remove

4. = No substitution required

Question Number : 128 Question Id : 54592721136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required .

Many biologists suggest that it was time to removed the

Yellowstone grizzly bear from the list of threatened species.

Options:

1. = |t was time to remove
2. % |t was remove
3. ¢ It Is time to remove

4. = No substitution required

Question Number : 129 Question Id : 54592721137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required .

Researchers have found that wolves is far more flexible then
most people had realized.

Options:

1. = is more flexible then

2. v are far more flexible than
3. = 13 much flexible to

4. = No substitution required

Question Number : 129 Question 1d : 54592721137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there Is no

need to substitute It, select option No substitution required .

Researchers have found that wolves is far more flexible

then most people had realized.

Options:

1. = Is more flexible then
2. v are far more flexible than

3. % 18 much flexible to



4. = No substitution required

Question Number : 130 Question Id : 54592721138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there is no need
to substitute it, select option No substitution required .

The world’s largest aquarium is a little quiet this afternoon,
with the changing tide limiting visibility to less than 30 feet.

Options:

1. = the changed tide limited
2. = a changed tide limiting

3. » the changing tide limited
4. v No substitution required

Question Number : 130 Question Id : 54592721138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to substitute the
underlined segment Iin the given sentence. If there Is no

need to substitute It, select option No substitution required .

The world’s largest aquarium I1s a little quiet this afternoon,

with the changing tide limiting visibility to less than 30 feet.

Options:

1. = the changed tide limited
2. * a changed tide limiting

3. = the changing tide limited
4. v No substitution required

Question Number : 131 Question 1d : 54592721139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

the number of fish decline, there will be fewer
opportunities to go fishing in the lake.

Options:

1. v As

2. * Because
3. = Although
4, = Yet



Question Number : 131 Question Id : 54592721139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

the number of fish decline, there will be fewer

opportunities to go fishing in the lake.

Options:

1. v As
2. » Because
3. = Although
4. = Yet

Question Number : 132 Question 1d : 54592721140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Wolves are among our planet’s best-studied animals, yet
habits have remained relatively mysterious.

Options:

1. = there

2. v thelr

3. = they're
4, = they had

Question Number : 132 Question Id : 54592721140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

Wolves are among our planet’s best-studied animals, yet

habits have remained relatively mysterious.

Options:

1. = there
2. v their

3. # they're
4. = they had

Question Number : 133 Question Id : 54592721141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

It’s hard to believe that the red wolves and gray wolves are
still : as they were thought to be extinct.

Options:

1. = thrive
2. = being
3. v around
4. = upon

Question Number : 133 Question Id : 54592721141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

It's hard to believe that the red wolves and gray wolves are

still ;. as they were thought to be extinct.

Options:

1. = thrive
2. % being
3. v around
4. = upon

Question Number : 134 Question Id : 54592721142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

They’ve been called “rats with tails, the humble eastern gray
squirrel is finally sometime in the spotlight.

Options:

1. = going to
2. % get

3. » have got
4, v getting

Question Number : 134 Question Id : 54592721142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

They've been called “rats with tails, the humble eastern

gray squirrel i1s finally sometime In the spotlight.

Options:
1. = going to
2. % get

3. = have got
4. v getting

Question Number : 135 Question Id : 54592721143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

In November 2018, regional authorities opened an
investigation the illegal capture of marine mammals.

Options:

1. v into
2. % of
3. =1n
4. % 10



Question Number : 135 Question 1d : 54592721143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

In November 2018, regional authorities opened an

Investigation the illegal capture of marine mammals.

Options:

1. v Into
2.  of
3. % In

4. = to

Question Number : 136 Question Id : 54592721144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

Aluminum’s low density, light weight and malleability
it one of the most useful metals industry today.

Options:

1. = makes, of
2. v make, In
3. » makes, in
4. = make, Into



Question Number : 136 Question 1d : 54592721144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to fill in the blank.

Aluminum’s low density, light weight and malleability

it one of the most useful metals Industry today.

Options:

1. = makes, of
2. v make, In

3. = makes, In
4. = make, Into

Question Number : 137 Question Id : 54592721145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

The glaciers in the Himalaya are much less studied than
Greenland’s it is amongst the most dangerous regions.

Options:

1. = yet

2. » alike

3. v because
4. = however

Question Number : 137 Question Id : 54592721145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

The glaciers in the Himalaya are much less studied than

Greenland’s It 1Is amongst the most dangerous

regions.

Options:

1. = yet
2. = alke
3. v because

4. = however

Question Number : 138 Question Id : 54592721146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate word to {ill in the blank.

The bottom surface of the sea ice is a thick slurry of floating
ice crystals, and my descent them in motion.

Options:

1. = have set

2. » had set

3. = has setting
4. v has set

Question Number : 138 Question Id : 54592721146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate word to fill in the blank.

The bottom surface of the sea ice i1s a thick slurry of

floating I1ce crystals, and my descent them In

motion.

Options:

1. = have set
2. %= had set
3. = has setting

4. v has set

Question Number : 139 Question 1d : 54592721147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arrange the jumbled sentences to make a meaningful
paragraph.

A. Self-portraits have a long history in the art world.

B. Since 2014, the United States has celebrated June 21 as
National Selfie Day to honor this distinctive style.

C. With the rise of smartphones, selfies captured by cameras
rather than paint have become increasingly popular.

D. What do you do when nobody 1s around to take your
picture? You take a selfle.

Options:

1. v DACB
2. » BDCA



3. = ABCD
4. » DCBA

Question Number : 139 Question Id : 54592721147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arrange the jumbled sentences to make a meaningful

paragraph.

A. Self-portraits have a long history in the art world.

B. Since 2014, the United States has celebrated June 21 as
National Selfie Day to honor this distinctive style.

C. With the rnise of smartphones, selfies captured by
cameras rather than paint have become increasingly popular.
D. What do you do when nobody Is around to take your

picture”? You take a selfie.

Options:

1. v DACB
2. = BDCA
3. = ABCD
4. = DCBA

Question Number : 140 Question Id : 54592721148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Arrange the jumbled sentences to make a meaningful
paragraph.

A. For Nespresso, delivering a consistently perfect cup of
coffee meant creating a capsule system for people at home.

B. Each one needed a casing that was protective, durable, and
airtight enough to ensure that the coffee inside stayed as fresh.

C. Aluminum is a material that met the challenge because it
allows every capsule to be hermetically sealed, locking in that
coffee aroma.

D. Aluminum’s low density, light weight and malleability
make it one of the most useful metals in industry today.

Options:

1. = DABC
2. v ABCD
3. = CDAB
4. = ABDC

Question Number : 140 Question 1d : 54592721148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Arrange the jumbled sentences to make a meaningful

paragraph.

A. For Nespresso, delivering a consistently perfect cup of

coffee meant creating a capsule system for people at home.

B. Each one needed a casing that was protective, durable,
and airtight enough to ensure that the coffee inside stayed

as fresh.

C. Aluminum Is a material that met the challenge because it
allows every capsule to be hermetically sealed, locking In

that coffee aroma.

D. Aluminum’s low density, light weight and malleability

make It one of the most useful metals In industry today.

Options:

1. = DABC
2. v ABCD
3. = CDAB
4. = ABDC

General English2
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Question Number : 141 Question Id : 54592721149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Arrange the jumbled sentences to make a meaningful
paragraph.

A. Yuri Gagarin, Alan Shepard, and Neil Armstrong - the first
wave of space travelers—were trained astronauts thought to
have the “right stuff” for risky missions.

B. But early spaceflight wasn’t the exclusive province of men —
or even humans.

C. More than three years before Gagarin became the first
human in space, the soviets sent up a stray dog.

D. Fruit flies, monkeys, mice, dogs, rabbits, and rats flew into
space before humans.

Options:

1. = ABCD
2. » ADBC
3. v ABDC
4. = ADCB

Question Number : 141 Question Id : 54592721149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Arrange the jumbled sentences to make a meaningful

paragraph.

A. Yun Gagarin, Alan Shepard, and Neill Armstrong - the
first wave of space travelers—were trained astronauts thought

to have the “right stuff® for risky missions.

B. But early spaceflight wasn’t the exclusive province of

men - or even humans.

C. More than three years before Gagarin became the first

human In space, the soviets sent up a stray dog.

D. Fruit flies, monkeys, mice, dogs, rabbits, and rats flew

Into space before humans.

Options:

1. = ABCD
2. = ADBC
3. v ABDC
4. = ADCB

Question Number : 142 Question 1d : 54592721150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

Resistance

Options:

1. v Refusal

2. » Merit

3. » Comparison
4. = Circumstance

Question Number : 142 Question 1d : 54592721150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

Resistance

Options:

1. v Refusal
2. = Ment
3. = Comparison

4. = Circumstance

Question Number : 143 Question Id : 54592721151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate antonym of the given word.

Mischievous

Options:

1. = Irksome
2. v Obedient
3. = Tricky
4. = Playful

Question Number : 143 Question Id : 54592721151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the given word.

Mischievous

Options:

1. = Irksome
2. v Obedient
3. = Tricky
4. = Playful

Question Number : 144 Question Id : 54592721152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

Mansion

Options:

1. » Fortress



2. = Domicile
3. v A large impressive house
4. = Plantation

Question Number : 144 Question Id : 54592721152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.

Mansion

Options:

1. = Fortress
2. = Domicile
3. v A large impressive house

4. = Plantation

Question Number : 145 Question Id : 54592721153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate antonym of the given word.

Harmony

Options:

1. v Discord
2. = Kinship
3. = Rapport
4. » Ecstasy

Question Number : 145 Question Id : 54592721153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate antonym of the given word.

Harmony

Options:

1. v Discord
2. = Kinship
3. » Rapport
4. = Ecstasy

Question Number : 146 Question Id : 54592721154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correct pair of homophones to fill in the blanks.

The stained glass windows behind the in Glenn Church
are in need of repair.

Genetic screening has the potential to the genetic
composition of the population.

Options:

1. = altar, altar
2. v altar, alter
3. = alter, alter
4. = alter, altar

Question Number : 146 Question Id : 54592721154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the correct pair of homophones to fill in the blanks.

The stained glass windows behind the iIn Glenn

Church are in need of repair.

(Genetic screening has the potential to the genetic

composition of the population.

Options:

1. = altar, altar
2. v altar, alter
3. = alter, alter

4. = alter, altar

Question Number : 147 Question Id : 54592721155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Elimnate

2. » Competition
3. = Absence

4. = Endeavour

Question Number : 147 Question Id : 54592721155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. v Elimnate



2. » Competition
3. = Absence

4. = Endeavour

Question Number : 148 Question 1d : 54592721156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Gymnasium
2. v Hygeine

3. = Illustrate

4. = Arousing

Question Number : 148 Question 1d : 54592721156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. * Gymnasium
2. v Hygeine
3. # lllustrate

4. = Arousing

Question Number : 149 Question Id : 54592721157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Extension
2. * Innocence
3. v Apperernce
4. = Obstacle



Question Number : 149 Question 1d : 54592721157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the wrongly spelt word.

Options:

1. = Extension
2. % |nnocence

3. v Apperence

4. = QObstacle

Question Number : 150 Question Id : 54592721158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

To have a sweet tooth

Options:

1. v Preference for sugary foods

2. » To experience pain while eating
3. = To be insincere

4. = Lacking courage

Question Number : 150 Question Id : 54592721158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

To have a sweet tooth

Options:

1. v Preference for sugary foods



2. » To experience pain while eating
3. = To be Insincere

4, = Lacking courage

Question Number : 151 Question 1d : 54592721159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Spill the beans

Options:

1. » Waste money

2. v To reveal a secret
3. = To be idle

4. = Lacking in support

Question Number : 151 Question 1d : 54592721159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Spill the beans

Options:

1. = Waste money

2. v To reveal a secret
3. = To be idle

4. = Lacking In support

Question Number : 152 Question Id : 54592721160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the meaning of the given idiom.

Call it a day

Options:

1. » To postpone

2. * Be unfair

3. v To stop working
4. = Take a chance

Question Number : 152 Question Id : 54592721160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the meaning of the given idiom.

Call 1t a day

Options:

1. » To postpone
2. * Be unfair
3. v To stop working

4. = Take a chance

Question Number : 153 Question Id : 54592721161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

Impossible to satisty

Options:

1. v Insatiable
2. » Vulnerable



3. = Opaque
4. = Potable

Question Number : 153 Question Id : 54592721161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

Impossible to satisfy

Options:

1. v Insatiable
2. = Vulnerable
3. = Opaque
4. = Potable

Question Number : 154 Question Id : 54592721162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A person or thing living or existing at the same time as
another.

Options:

1. = Cynic

2. v Contemporary
3. » Fanatic

4. » Predator



Question Number : 154 Question 1d : 54592721162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

A person or thing living or existing at the same time as

another.

Options:

1. = Cynic
2. v Contemporary
3. = Fanatic

4. = Predator

Question Number : 155 Question Id : 54592721163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of words
given.

A child born after the death of its father

Options:

1. » Notorious

2. » Theist

3. v Posthumous
4. = Pedestrian

Question Number : 155 Question 1d : 54592721163 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Select the word which means the same as the group of

words given.

A child born after the death of its father

Options:

1. = Notorious
2. ® Theist
3. v Posthumous

4. = Pedestrian

Sub-Section Number: 2
Sub-Section 1d: 5459271257
Question Shuffling Allowed : Yes

Question Id : 54592721164 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the given passage and answer the questions that follow.

Technology has impacted almost every aspect of life today,
and education is no exception. Or is it? In some ways,
education seems much the same as it has been for many
years. A 14th century illustration by Laurentius de Voltolina
depicts a university lecture in medieval Italy. The scene is
easily recognizable because of its parallels to the modern day.
The teacher lectures from a podium at the front of the room
while the students sit in rows and listen. Some of the students
have books open in front of them and appear to be following
along. A few look bored. Some are talking to their neighbours.
One appears to be sleeping. Classrooms today do not lock
much different, though you might find modern students
locking at their laptops, tablets, or smart phones instead of
bhooks (though probably open to Facebook). A cynic would say
that technology has done nothing to change education.

However, in many ways, technology has profoundly changed
education. For one, technology has greatly expanded access to
education. In medieval times, books were rare and only an
elite few had access to educational opportunities. Individuals
had to travel to centres of learning to get an education. Today,
massive amounts of information (books, audio, images,
videos) are available at one’s fingertips through the Internet,
and opportunities for formal learning are available online
worldwide through the Khan Academy, MOOCs, podcasts,
traditional online degree programs, and more. Access to
learning opportunities today is unprecedented in scope
thanks to technology.

Opportunities for communication and collaboration have also
been expanded by technology. Traditionally, classrooms have
heen relatively isolated, and collaboration has been limited to
other students in the same classroom or building. Today,
technology enables forms of communication and
collaboration undreamt of in the past. Students in a
classroom in the rural U.S,, for example, can learn about the
Arctic by following the expedition of a team of scientists in
the region, read scientists’ blog posting, view photos, e-mail
questions to the scientists, and even talk live with the
scientists via a videoconference. Students can share what they
are learning with students in other classrooms in other states
who are tracking the same expedition. Students can
collaborate on group projects using technology-based tools
such as wikis and Google docs. The walls of the classrooms
are no longer a barrier as technology enables new ways of
learning, communicating, and working collaboratively.



Sub questions

Question Number : 156 Question Id : 54592721165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The given passage attempts to answer one of the following
gquestions:

Options:

1. v How has technology changed education?

2. = Is technological changes a threat to education?

3. = Is technology needed in the domain of education?
4. = Is the education sector technologically dependent?

Question Number : 157 Question Id : 54592721166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the author, a cynic would say that technology
has done nothing to change education because:

Options:

1. = The classrooms today do not have any similarity with the
classrooms in the past.

2. v Classrooms today do not look much different from the
way they were in the past.

3. » The teaching fraternity doesn’t welcome any changes in
the education sector.

4. = The classrooms today do not have any similarity with the
classrooms in the past and The teaching fraternity doesn’t
welcome any changes in the education sector.

Question Number : 158 Question Id : 54592721167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following statements is not true in the context of
the passage?

Options:

1. = Massive amounts of information is available to
individuals at their fingertips.

2. = Access to learning opportunities has increased.

3. v In medieval times too, many had access to educational
opportunities.

4. = Technology has expanded access to education.

Question Number : 159 Question 1d : 54592721168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From among the given options, choose the option that is most
similar in meaning to the word ‘isolated’ as used in the 3rd
paragraph 2nd line of the passage:

Options:

1. = Substituted
2. » Unattended
3. = Cherished
4. v Detached

Question Number : 160 Question Id : 54592721169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why does the author state that the walls of the classroom are
no longer a barrier?

Options:

1. v As technology has enabled new ways of learning,
communicating, and working collaboratively.

2. * Technology has changed the roles of teachers and
learners.



3. = Students now take more responsibility for their own
learning.

4. = Schools and universities across the country are beginning

to redesign learning spaces to enable a new model of
education.

Question Id : 54592721164 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the given passage and answer the questions that

follow.

Technology has impacted almost every aspect of life today,
and education is no exception. Or is it? In some ways,
education seems much the same as it has been for many
years. A T14th century illustration by Laurentius de Voltolina
depicts a university lecture in medieval ltaly. The scene is
easily recognizable because of its parallels to the modern
day. The teacher lectures from a podium at the front of the
room while the students sit in rows and listen. Some of the
students have books open in front of them and appear to
be following along. A few look bored. Some are talking to
their neighbours. One appears to be sleeping. Classrooms
today do not look much different, though you might find
modern students looking at their laptops, tablets, or smart
phones instead of books (though probably open to
Facebook). A cynic would say that technology has done

nothing to change education.

However, in many ways, technology has profoundly changed
education. For one, technology has greatly expanded access
to education. In medieval times, books were rare and only
an elite few had access to educational opportunities.
Individuals had to travel to centres of learning to get an
education. Today, massive amounts of information (books,
audio, images, videos) are available at one’s fingertips
through the Internet, and opportunities for formal learning
are available online worldwide through the Khan Academy,
MQOQOCs, podcasts, traditional online degree programs, and
more. Access to learning opportunities today is

unprecedented in scope thanks to technology.

Opportunities for communication and collaboration have also
been expanded by technology. Traditionally, classrooms have
been relatively isolated, and collaboration has been limited
to other students in the same classroom or building. Today,
technology enables forms of communication and
collaboration undreamt of in the past. Students in a
classroom in the rural U.S., for example, can learn about
the Arctic by following the expedition of a team of scientists
in the region, read scientists’ blog posting, view photos, e-
mail questions to the scientists, and even talk live with the
scientists via a videoconference. Students can share what
they are learning with students in other classrooms in other
states who are tracking the same expedition. Students can
collaborate on group projects using technology-based tools
such as wikis and Google docs. The walls of the
classrooms are no longer a barrier as technology enables
new ways of learning, communicating, and working

collaboratively.



Sub questions

Question Number : 156 Question Id : 54592721165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The given passage attempts to answer one of the following

questions:

Options:

1. v How has technology changed education?
2. % |s technological changes a threat to education?
3. #= |s technology needed in the domain of education?

4. = |s the education sector technologically dependent?

Question Number : 157 Question Id : 54592721166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the author, a cynic would say that technology

has done nothing to change education because:

Options:

1. = The classrooms today do not have any similarity with

the classrooms In the past.

2. v Classrooms today do not look much different from the

way they were In the past.

3. = The teaching fraternity doesn’t welcome any changes

in the education sector.



4. = The classrooms today do not have any similarty with
the classrooms In the past and The teaching fraternity doesn’

t welcome any changes in the education sector.

Question Number : 158 Question 1d : 54592721167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements Is not true in the context

of the passage?

Options:

1. = Massive amounts of information I1s available to

iIndividuals at their fingertips.
2. » Access to learning opportunities has increased.

3. v In medieval times too, many had access to educational

opportunities.

4. = Technology has expanded access to education.

Question Number : 159 Question Id : 54592721168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From among the given options, choose the option that Is
most similar in meaning to the word ‘isolated’ as used In

the 3rd paragraph 2nd line of the passage:

Options:

1. = Substituted
2. » Unattended
3. * Cherished
4. v Detached



Question Number : 160 Question Id : 54592721169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why does the author state that the walls of the classroom

are no longer a barrier?

Options:

1. v As technology has enabled new ways of learning,

communicating, and working collaboratively.

2. = Technology has changed the roles of teachers and

learners.

3. # Students now take more responsibility for their own

learning.

4, = Schools and universities across the country are
beginning to redesign learning spaces to enable a new

model of education.
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459271258
Question Shuffling Allowed : Yes

Question Number : 161 Question 1d : 54592721170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

THHATel R A # ¥ Todel e[S, DI AT iyl

Options:

1. = JTH
2. v 3T
3. % @l
4. * TG

Question Number : 161 Question 1d : 54592721170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR esal A @ dgd 9sg &l IIdad IV

Options:

1. = JTH

2. v I
3. % hUT
4. = Teg

Question Number : 162 Question Id : 54592721171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIS, “GHTITEDRIY T FI-H Tdwc, HaT GIT?

Options:

1. v GATT + TUPR
2. % GHTTY + DR
3. * T + AIATHRR
4. » gHa+ ATIBR




Question Number : 162 Question 1d : 54592721171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

¢Ieg ‘GHTANIRR’ hT TlexT [A<de T BI9I?

Options:

1. v AT + YRR
2. = AT + &R
3. » §H + HATIATERR
4, = A+ IR

Question Number : 163 Question Id : 54592721172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl T Seel # & DIT-9T e[C, STTdelTere JT Bl AT gl

Options:

1. % del

2. % U
3. = ST M
4, v &8

Question Number : 163 Question Id : 54592721172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFaIEaa esal # T HiA-TT s ATfaaraer AT sl ZATdT &

Options:

1. = del
2. % §dYd
3. = STl I
4. v oTar

Question Number : 164 Question Id : 54592721173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rrgefeiae aTpat & & Rt yeeprierdy T 781 22

Options:




1. = og e 7T 3l
2. v dg ol @TdT 3l
3. * g @M1 9rdr 3l

4, = TeT § ©T BTeT ATl

Question Number : 164 Question Id : 54592721173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAeAfTaT areral 7 & forgH qaehifel foham o181 87

1. » ag Taegrera srar &l

2. v T ol TIaT &I

3. » gg HTeT TTdT &
4, = grer A = 377 4T

Question Number : 165 Question Id : 54592721174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U e hl AU 3

Options:

1. % 3UF + 77
2. v U+
3. = I+U9I
4. % UG+

Question Number : 165 Question Id : 54592721174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39El erse kI sgcUleeT §-

Options:

1. = 398 +
2. v 3T+
3. % 3+9Edr



4. % 3UGHIT

Question Number : 166 Question Id : 54592721175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

THTS] T UGTZeTeT S9C, -

Options:

1. * Pelhd
2. v DUIER

3. % STPE
4. * TEATPR

Question Number : 166 Question Id : 54592721175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fEATer T TITFaTRIT 2reg &-

Options:

1. % FHolhd
2. v HhUrRay
3. = 3T
4. » TeaThR

Question Number : 167 Question 1d : 54592721176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T § § “3reri @ Tdelld Ue[c AT gHIm ?

Options:

1. v 3R
2. % @IT
3. = Wy
4, = STEY

Question Number : 167 Question 1d : 54592721176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T A & ‘3afa’ 1 AelH esg 4T e ?

Options:




x hIT
ArET
%Q]?,T

ol
#®

Question Number : 168 Question Id : 54592721177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T STPITY o ToIT Teh e DT AT DTS-
g Tt prax T3t -

Options:

1. » He@el
2. v MHf®
3. * Meiot
4, % [ i

Question Number : 168 Question 1d : 54592721177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToraaT Tl o TolT Ueh 916 T Il hiToI0-
o8 fordT &7 3T o & -

Options:

1. = folemer
2. v Toraifer
3. = foleiost
4, = fol: o

Question Number : 169 Question Id : 54592721178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T S # F [ AS[E DT AT hi 7l

Options:

1. * G




2. = 3eifare

3. v EHY
4, = Gy

.,

Question Number : 169 Question Id : 54592721178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foFeT eTedr A & qg e FT T chireLl

Options:

1. = gdg

2. = 3eifarg
3. v 3TAY
4. = T

Question Number : 170 Question Id : 54592721179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TSI TohaIT T el T UX 7 USHE B T U3, 39

Options:

1. = PleT
2. v GEHE T
3. = 3[PHD TopdT
4. = AP

Question Number : 170 Question Id : 54592721179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o g ohaT 7 %ol dl W o ST A T U3, 39

Fgd &l

Options:

1. = <hTel
2. v THhHF ToraT
3. % 3hHeh TohdT

FEd g



4. = g

Question Number : 171 Question Id : 54592721180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TIOD DT AL §-

Options:

1. * SBT A Tell
2. v UL UBA elell
3. * WS &1 efTell
4. * UUS & el

Question Number : 171 Question Id : 54592721180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTHh T AT §-
Options:

1. % STOT Flal ATall

2. v g9 qﬂaﬁ arell
3. ® Y Fellel ATell
4. % Y& et dTell

Question Number : 172 Question 1d : 54592721181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAHATel T -G & Fgl 3rd-He, @l IIT iy
“3TTTeT-31Te

Options:
1. = 3MT-gar
2. % ZAT-UTAT
3. % SITel-3MT
4. v gdT-31MT

Question Number : 172 Question Id : 54592721181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



farafali@d eee-oa & LT 3T-Ag FT T HITI0-

‘3faTol-37eTol
Options:

1. = TT-gar
2. % BAT-9Tar
3. = STaTel-3TT

4. v gar-3TeT

Question Number : 173 Question Id : 54592721182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T HATel T WS # [ eIl eTol QTe[S T T hiToIy-

Options:

1. v 3MATIHAT
2. % STATALAT
3. * JTHTAYAT
4. = 3ATererAT

Question Number : 173 Question 1d : 54592721182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

GG R LG JCS Tdal dlel 15 T Tl hiTolU-

Options:

1. v 3HTTGET

4. = 3TATFIT

Question Number : 174 Question Id : 54592721183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T STPTY h T Ueh e DT T DIST-

HATET T JefeltiT hich TchaT Z3T-

Options:




L. * Iqa
2. % 3T
3. % 3

4, v 3dpd

Question Number : 174 Question Id : 54592721183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tid~T QTFATeT ok TolU Teh e16g Rl TId hiloTU-
AATET T 3eodel Tieh [T B37T-
o

Options:

1. % 3Hcall
2. % Tt
3. » 3{CHT
4.&?31‘1%!%

Question Number : 175 Question Id : 54592721184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hishdl dich Sitare H FTH PATAT g, T 3Gl gl SITaT 3l

Options:

1. % ShHIA
2. # 3MTeTdl
3. v Riwpa

4. = BHS

Question Number : 175 Question Id : 54592721184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tferg =AfFd Sflae A &7 KA §, W THT

& ST &1

Options:

1. = 3hHATY



Question Number : 176 Question Id : 54592721185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl # § Tebeich STTH YT ATl T gid 82

1. v STl d] & 910
2. % USl & °H
3. = el &7 ATH
4. » QIR & A0

Question Number : 176 Question Id : 54592721185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ & @ frass a1H v St gia &7

Options:

1. v STelAT & ATH
2. % U3 & oITH
3. % Wl o oI1H
4, = FERT & oATH

Question Number : 177 Question 1d : 54592721186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Thd aTpd § @< &I g! TN g3 g2

Options:

1. = BT gler 38 3l
2. » UL BIST 38 TS|

3. = ¥ grer 3 14
4. v W eI 38 MU

Question Number : 177 Question Id : 54592721186 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

ﬁmmﬁmwaﬁrﬂwg&wﬁ?

Options:

1. = A &rer 33 18
2. * BAN BIeT 38 3
3. = # grer 35 a4
4. v AY g 33 0

Question Number : 178 Question Id : 54592721187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oG H G, T FHEAY [ G 52

Options:

1. % Tl

2. % -
3. v M

4, * A

Question Number : 178 Question Id : 54592721187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T F oeE T TFEEY AT grar £7

Options:

1. = felar
2. % ddd
3. v hFR
4. = AT

Question Number : 179 Question Id : 54592721188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“QUieT AT hleT” <l BT gl ST gl

Options:

1. * QHAFZT 44




2. % AT T
3. ¢ 3MET qd
4. » WG Dol

Question Number : 179 Question Id : 54592721188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘qOTad AT Tl FT &l FaET ST &1

Options:

1. = HTATT &

2. = TTHATT TIHT

3. v 3Hecd Hd
4. » HTasT Hrel

Question Number : 180 Question Id : 54592721189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qTpd GITY ST IOIAT Ag! ST GhT' T DelTed HAT gHIT?

Options:

1. » AY GRS g ISHAT AT IRhdTl
2. v & AET g1 3T gad Tl

3. * TS ST ISMAT Tg1 AT Fehd T
4, = T ST Tg1 SSMT ATl

Question Number : 180 Question Id : 54592721189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT “HS SIS SSRIT FET ST Hehcll' T heJared FAT BaMT?

Options:

1. = AL TGN §IST olgl 3S-T ST ohd T
2. v # 95T STal 33T ahdTl

3. » AFY ST 33T 18T ST Fehell
4, = # ST STar 3T AT
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Question Number : 181 Question Id : 54592721190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g g 14T LY Tg M § — I8 I197 g

Options:

1. = WY @Tpg
2. % Gl ATHY

3. v 9Z&d a15d

4. % YAATID dTpd

Question Number : 181 Question Id : 54592721190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Jg BN T Wed Ig 3RIJ & - I§ T ¢




Options:

1. = T8 gy

2. = Lol I

3. v chrd GIERS

4. = TeAdIdh dIery

Question Number : 182 Question Id : 54592721191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ Y AN Teiehe(dl # ¥ g eTpd T AT -

1. % oI GPATYelh Ig Gl &l

2. % QT del & [eel AT aTel! al

3. % 3T ATt = aftet 21

4. v Ig G AT g 3T gIer 38 MU

Question Number : 182 Question Id : 54592721191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁ;@?mawﬁa«_wq’fﬁﬁﬂa greFd SRT TTeT hi-

Options:

1. = a'et@mqjqw 5 T&T &l
2. % Gl el o ol STe aTel &1
3. = 39 TOdTer o &el o

4. v T L FeId & 3elsh BT 35 0

Question Number : 183 Question 1d : 54592721192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eer: e & T 9S[ &f IR 9 & S1er 47 g (A), (B), (C) 3 (D)
ShHTeh T T g1 ITUDT TG @ g Tch aTepd o Tehd W § AT, I,
=T, Qe[S & ToTd YANT 2T S4T AYg i IS i T gl gl Tl i ghit

dr e & ThdT Ten W # §F gIiT 39 |1 T $hHien &1 3ITUT I gl

Il &l eh dgd gl IUATAT Ig 41 g T (A) S eITdTero H#(B)
3ITerS[&eh 3MSdT a1 gt g(C)epis i gl gl (D)

Options:

1. = A
2.v DB
3.= C
4, %)

Question Number : 183 Question Id : 54592721192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forder: dil TG = wRa &l A AN & &ier 717 & (A), (B),
(C) 3N (D) FATHR €T T &1 IR T& SHelT § foh arFd
foFg 9T H STTRIOT, ATYT, TdaT, 2SSl o ol TATT AT ST
RE T I AMC o =61 &1 I I @Rl ar arsFg & FrdT vk
ST H BT BT 3F 6T T FHAH &l AT9HRT 3cal gl

Tl hT Teh g oI 3uMEar I8 ofr § & (A) 3ok ararao
A(B)3TaeTsh el d&r &l &(c)®g I i@l g1 (D)

Options:

1. = A
2. v B
3. = C
4. = D



Question Number : 184 Question 1d : 54592721193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g &, S9H G B T 39 (ol g N9d vy § 99

gl SITdT gl

Options:

1. * ITIAYEY
5,

2. * FUITATEYT
3. v AATEY

4, % JAJUYEY

Question Number : 184 Question 1d : 54592721193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ag &.oTd gdard 1 w3eT 39+ v & s
By &7 FT FeT STl &l

Options:

1.&3%?4135&

2. HETATHY
3. v 3TTEY

4, = mddiulghq

Question Number : 185 Question Id : 54592721194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTh sl SITAT BT — TG aTpd gl

1. = TSgAZATISR

,

2. % STBICATID

3. v Gegarad

4. » Ghddrad

Question Number : 185 Question 1d : 54592721194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR 3T B1E - I§ aToFg &




Options:

1. = TS EAgaTTh

2. * ZToIdrdeh

3. v Hegdrdeh

4. » hddrdh

Question Number : 186 Question Id : 54592721195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S e[, Teh g YT AT FelTH §7?

Options:

1. v 3qdAYEY

2. AYIAYEY
3. # ITAYEY
4. * pAdIIEY

Question Number : 186 Question Id : 54592721195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A e fFE TR T TAH 87

Options:

’I.v’?ﬁﬂ?ﬂ'

2. HETATHY
3. * OUEY

4., & hddIdI9+y
c o

Question Number : 187 Question 1d : 54592721196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“TITS AT ITRIA § IS Tl §1“ 9 aAThd H 3 TGl shaT Teh g Terrd i g2

Options:

1. v 3pHB
2. = GhHD
3. » ATV




4, = FATUHT

Question Number : 187 Question 1d : 54592721196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“RITSAT 3Tehrer & 38 W@r &1 39 gy # 33 &y fohar opg
Tk hT &7

Options:

1. v 3hdh
2. * HhA®
3. = HHATYHRT
4, = 3THATTYRT

Question Number : 188 Question Id : 54592721197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STgT qul TR ot AU i Th-T NI gl,ag! EEEIREIL
ERIESIGIN

Options:

1. v LA
2. % QUiTeRTH
3.« §gT g
4, » PIUSD

-,

Question Number : 188 Question 1d : 54592721197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST&l quT faurA & 37987 A Fehell 3AT&T &1,T80
Rrea &1 y=er oRam S7ar £

Options:

1. v AEATA
2. % TUIGUH

o,

3. = G817 Rea




4. = PISSH

Question Number : 189 Question Id : 54592721198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

“3ITHHTT U YT HGTeIT T 372 T 82

Options:

1. v HETTEUT BT MR BT

2. % ST SIS

3. = [e@reer €A

4. » GoHe § USAT

Question Number : 189 Question Id : 54592721198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“mww’wmyﬁwﬁ?

Options:

1. v AETIENT FT foreT e

2. x S19IE BIgal
3. = Temmadr &
4, = Hehc H TSl

Question Number : 190 Question 1d : 54592721199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U BRI 3 ST, FatTie T 21 ATl M- g

Options:

1. * TAGHITICHTER
2. % GeETIR

3. v 3e(UTAH

,

4, % ILTATH

Question Number : 190 Question 1d : 54592721199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




qoT foA & oTe @@t vgerd gl aren faurA-fee
&l

1. = SEAIICEras

2. = UAdIdeh

3. v 3e9TadTH

4. = IEIQUH

Question Number : 191 Question Id : 54592721200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G I AT Dgl YU-Dgl BIAT elichlich DT N HAT §?

1. * YR BYC AT

2. v dTch dh ITER ATTHI
3.« UQT UTg 7 giAT

4. » Ut AT §RT GAT 3T

Question Number : 191 Question Id : 54592721200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TGy T AT Fal YI-Fg! ST Sl T 37T FIT §7

1. % =T HC ol

2. v AFd & HATAR HTGeHaTc
3. = g7 9T o T

4. = fqUfcd a1 A TAT 3=

Question Number : 192 Question 1d : 54592721201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S & WG ThaTd U 919 Ugehd gl df PI-9T eIg &1 Srar g2

Options:

1. » e(UTeRTH




Question Number : 192 Question Id : 54592721201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oo &Y TYFA FRATT T AT TG @1 Al Flel-8T Rieg o9
ST &7

Options:

1. % FeqadH
2. v Tqrolsh

3. » qg fou#A
4, = JeaIdTdeh

Question Number : 193 Question 1d : 54592721202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“CIAT-UTHT IST HGTerl e 31 T g7

Options:

1. * T # o1

2. * ggd LI HIAT
3. * W TR T AT
4. v STg BB

Question Number : 193 Question 1d : 54592721202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAT-TTell 3&aT HFTAT T 37T 4T &7

Options:

1. = 3Ne H ol
2. % Sgd YT Hld]l

3. * I SellehY U@ &l




4. v SOTE BISaT

Question Number : 194 Question Id : 54592721203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

AT T o oll¥ giv U Ugehd gidT &:
Options:

1. » T T
2. v TR

~,

3. % 3G
4, = 3ITCTH

Question Number : 194 Question Id : 54592721203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ARSI 3cqT & AT gl T T BieT &

Options:

1. = qg fauA
2. v 3TeUalIH
3. = &AUH
4, = HETH

Question Number : 195 Question 1d : 54592721204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘PIgel H PIT TH gl gid” eliepiich T 31 AT g2

1. * Tefel § e T U ST 3

2. % €IG T FITUR AT A1 gIdT gl

3. v 3ed-gL Tt STg EId B

4, » Yl dF SETEUT] N1 o Tg1

Question Number : 195 Question 1d : 54592721204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e FAT Y TG AT AR I T &2

Options:




1. = @igel # a9 &1 9= ST §

2. = O & IR TR-T gl adl gl
3. ¢ m—?ﬁ' AT S8 B B

4. = 9f8g A AL JTTAT F& el

Sub-Section Number: 2
Sub-Section 1d: 5459271260
Question Shuffling Allowed : Yes

Question Id : 54592721205 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

Téer: Jie 1ed T JruTad Werer e uie: T 31X WA & Iqa Iyl

chicl o GHEH § Tg DIT AL (T UdId gidT g Teh did Tepia 1 G Tge
gIdT gl ™o E TehR QRTgd 37U TSI & GHYT PolTRil Tei U Td-TTHursim
d A gIT g, I4T TPR Did DI UPId & FHY AT Td [haT
UTShAT3IT &l WHST GIFT ATgU| SHeh o1 il Dl “iel’ el GoIT I Taviud
HTAT UT ST Ul g1 gidTl diel g1 37U Y& [T <Iieh ZRT Yapid
iror & QF Gt Qe Uerdt @t 3@ oldT 8, STgl AT Il df giE gl
ST, ST IS STt WY 3 Y e deh g1 Ugerdl| dg e Ugel o1 g UdT
T gl Mepetd!, ST YTUTRUT gI= U HT STHTERI gl, oiifdhan i U 4T,
3ToliTcher SITCIUTCE BT, Felehl ™I giv X T, Telle TR @
aTell BT, WTd & YT Ud YPd GAT Bl GAATLT & BT H AT Bt
T I 3 AT T HIATYT T T, STRTLT-GGAT BT GIB HEAT AT
3ATPIST & AT ATST hid DT BIH a1 gl TG SIS DT DI §, Pick DI DA
Y |l TG g1 GATHT el TUTTeT e HIHTLER 0T ehl TUT-Jell Ter ST
T ATH HT Diciqa g1 g, SI4T fh UT: GHST ST 31&H S8 & Uepid

T thl J™MTYRUT 8Tk & FIY-FT id & UTY STTa-IHel BT 3T
I GIET ATTGY TAT I Terferer dHefr31 Tel ATEAT T HT ATAT GIHT ATig Ul

Sub questions




Question Number : 196 Question Id : 54592721206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SUYepd eI T Fellieieh IuYepd SiTieh gr FedT 3

Options:

1. = Siadr

2. % Tpid
3. = @

4. v Ui T QRIET: B

Question Number : 197 Question Id : 54592721207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST TENSr o SUR YEW S8 & Ypid TAAEUT T STHTLT <Teh &
HTY-FTY hid & UTTY BT gIHT ATTZU?

Options:

1. * SETIET T 3T BIY FIHT ATGYN

2. % Y TeITory Helrai Uel AT &l |l ATdT ZIHT aTigyl

3. * IS\ T ATyl

4. v ST DT 3T DT gIHT ATGY 3 I TeATelts ot T3l e AT
T W FATT AT A8 Ul

Question Number : 198 Question Id : 54592721208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“ia YT Tt grefendT UT Gahdl 3 ST dia:

Options:

1. * SITHTA-HYHT I I TgT BT 3

2. * 3Tgd Te[UT- ATk BT U T g

3. v GelETURU Gl Ui & AT 9 3MeTd drdm g
4. = TS it G THHR T A-1<ier e @ar g

Question Number : 199 Question Id : 54592721209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&I8ieh T Yid D1 g

1. v UI& &Y AwET




2. » I T AHET
3. % 3[UAY i HIHET
4. = Hifelds FITgqd FiAT

Question Number : 200 Question Id : 54592721210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Y YT BT AT BT AT & FTeh ag TIpiaan:

Options:

1. + FHed T QT glaT &
2. v TEEAT ¥ TN grar g
3. % eI T AU gidT &
4. » TOUSM & 3T giaT §

Question Id : 54592721205 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



forder: @i e I 37UTST IEATRT I IMET 3 Toel & Ica
US N

I o GeoT H I§ HUd JEI: T Tdld 8T & Toh &g
R ST qUTed 81T &1 o8 96N qUfed 379« IoTATa &
AT Fomart g {fT-TRFRIET & A gar &, 3T THwR
SId P TPicd & GAET GEIT Ug TohaT WihdT3l T AAA Bl
TAMET| FHh 61T T T Fla HT Far & ST FLar o
3T gl oar giar i & arvelr ger fadieror afda ganr
TRTd s WRETOT & UF 2T UF 9Tl F oF ofdT §, 561
ATHATeT STFAAT shl T8¢ gl oial, MY Ifg Srar o & ar g
ﬁaﬁrqéﬂcﬂlds SER qgﬁﬁmaﬂéﬁﬁmﬁaﬁﬁwﬁ,
ST GTUROT gt o T 3araror @6, @ifhe gl ug o,
oiifohenr 3Tedeglcdcen &1, Hanl ST it ¥ 3T, sTdle THhI
fezmet arell &1, Tepfcr & e Ua Hek IEEAT P HIATUROT
ST H olTall hid T hIH &1 AT hl ATHANET R I&T,
STTRTRI-FEAT T FICE FTAT IT JHRRN F R A5 Hid H
FTH AGT &l IE aTTalch T FIH &, HI1d HT HIH ST AT T
&1 saTeRor v erer & faATeER ot Fi-qgelr geT e
ST oITH 1 Sidcg o181 &, ST foF 9= §HSAT ST §1gEH Tiee
8 gepfar TAQETOT T IETYROT Ifdd & -9 Hid &
SHTeTeIsdl ST 378TF 1Y glefl AT dUT 38 fAfder Fermstt vd
ITEAT ST &7 ATAT T ATRT|

Sub questions

Question Number : 196 Question Id : 54592721206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

;’J‘-HEGI'CI ITETeT hT HATTIh :;Ll-*:.l;crd ofifsr &I TehdT &:




Options:

1. = Hiddr
2. = Ui
3. % hid
4.@935%%@:3?%

Question Number : 197 Question Id : 54592721207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SYIFT AEATY F AR FEA TS T Uhic TIAIETOT hr
IATYRUT AT o TTY-TTY Fid & 1 FIT &l ANET?

Options:

1. = STl T 38T FIY Elell ATMET|
2. » 30 BTy Fomt vg ArEFr T #T AT T I1ge|
3. » areffaer T TRV

4. v STeATTEl FT 376TT FIY gl TV 3R 37 fafay
FITH TF TEAT KT AT FATAT &leaT ATBTI

Question Number : 198 Question 1d : 54592721208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ST AT THT ATTRAT 9T Tohdl & AT hid:

Options:

1. = 3TRIRI-FHAT T FIBE &l FIAT &

2. % g Feda- offehT T IR 2T &

3. v HAETYROT &1 Yhfd & FEAT F 3T FIAT &
4. » greffarer hT AT IFHT Ta Helarellel e T&AT &

Question Number : 199 Question Id : 54592721209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mﬁ?mﬂamg:




Options:

1. v OIT&T hr HAHTET

2. = AT “hr AT

3. = 3TUV&T =hT HIATET
4. » #Alferr Frfacy aster

Question Number : 200 Question Id : 54592721210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RTd T TRic KT QUUT FET IT § FAITh T8 Thich:

Options:

1. = Hleed T RRT 81T §
2. v {EEOT | 3T 8l &
3. » ForIRT F1 a9 & &
4, = qTF & A gdar @




